ITY 0L wbh-C i1 TAFLET-C ITY0Lwbh-C i1 TAFLET-C

#ME&E HSSE FEWE:C #ME:HSSE FEWIE:C

Tap material Surface treatment Tap material Surface treatment

57Uy FOREESOENEIE 57Uy FOREESOEHENE
s
IT-TF-C B = IT-TF-COYY BB 7
o0l 502
1C_| 1w B e _16 | 2

8@ B 21l (um) 64f-- B 21l (um) 84f- ga
8% 3c | 3w ’ _sc | 3 2; £
=F P | 4w 2 P [ am s F=
% 5 — — Ao}
< Y
% j HY EvF BIHEE BT e & 2R Wz HU EvF BfIHEE BT tEE A& 2R Rz Y EvF 2R BfIHE| BfY TRE PSESS 2R R Y EvF 2R BfIHE| BT fRE PSESS 2R R 7 B
U:'\) 2 M3 x0.35 3C7 3C 7 10 46 4 M7 x1 1C7 1C 7 16 65 6.2 M1 x0.25x 50 1CO 1C 0 5 50 3 M1 x0.2 x 50 3C6 3C 6 5 50 3 4 3
:% B M3 x0.35 3C8 3C 8 10 46 4 M7 x1 1C8 1C 8 16 65 6.2 M1 x0.25x 50 1C1 1C 1 5 50 3 M1 x0.2 x 50 3C7 3C 7 5 50 3 ij 'I>1
E P M3 x0.35 3C9 3C 9 10 46 4 M7 x1 1C9 1C 9 16 65 6.2 M1 x0.25x 50 1C2 1C 2 5 50 3 M1 x0.2 x 50 3C8 3C 8 5 50 3 Y E
3 t M3 x0.35 P4 P 4 10 46 4 M7 x1 B7 B 7 16 65 6.2 M1 x0.25x 50 1C3 1C 3 5 50 3 M1 x0.2 x 50 PO P 0 5 50 3 t 3

M3 x0.35 P5 B 5 10 46 4 M7 X1 B8 B 8 16 65 6.2 M1 x0.25x 50 1C4 1C 4 5 50 & M1 x0.2 x 50 PI1 P 1 5 50 &
1) M3 x0.35 P6 P 6 10 46 4 M7 x1 B9 B 9 16 65 6.2 M1 x0.25x 50 1C5 1C 5 5 50 3 M1 x02 x 50 P2 P 2 5 50 3 g (]
§§ M3 x0.35 P7 P 7 10 46 4 M7 x1 P7 P 7 16 65 6.2 M1 x0.25x 50 1C6 1C 6 5 50 3 M1 x0.2 x 50 P3 P 3 5 50 3 8
= Fﬂ M3 x0.35 P8 P 8 10 46 4 M7 x1 P8 P 8 16 65 6.2 M1 x0.25x 50 1C7 1C 7 5 50 3 M1 x0.2 x 50 P4 P 4 5 50 3 Fﬂ E
EE M3 x0.35 P9 P 9 10 46 4 M7 x1 P9 P 9 16 65 6.2 M1 x0.25x 50 1C8 1C 8 5 50 3 M1 x02 x 50 P5 P 5 5 50 3 E =)
%E M3.5x0.6 1C5 1C 5 10 48 4 M8 x1.256 1C7 1C 7 18 70 6.2 M1 x0.25x 50 BO B 0 5 50 3 M1 x0.2 X 50 P6 P 6 5 50 3 T:E @
EE M3.5x0.6 1C6 1C 6 10 48 4 M8 x1.25 1C8 1C 8 18 70 6.2 M1 x0.25x 50 B1 B 1 5 50 & M1 x0.2 x 50 P7 P 7 5 50 & E §
gﬁ M3.5x0.6 1C7 1C 7 10 48 4 M8 x1.256 1C9 1C 9 18 70 6.2 M1 x025x 50 B2 B 2 5 50 3 M1 x02 x 50 P8 P 8 5 50 3 ﬁ o
% M3.5x0.6 B5 B 5 10 48 4 M8 x1.256 B7 B 7 18 70 6.2 M1 x0.25x 50 B3 B 3 5 50 3 M1.1x0.25x 50 1CO 1C 0 5 50 3 %
= M3.5x0.6 B6 B 6 10 48 4 M8 x1.25 B8 B 8 18 70 6.2 M1 x0.25x 50 B4 B 4 5 50 3 M1.1x0.25x 50 1CI1 1C 1 5 50 3 i'
Q M3.5x0.6 B7 B 7 10 48 4 M8 x1.25 B9 B 9 18 70 6.2 M1 x0.25x 50 B5 B 5 5 50 3 M1.1x0.25x 50 1C2 1C 2 5 50 3 g
é M3.5x0.6 P5 P 5 10 48 4 M8 x1.25 P7 P 7 18 70 6.2 M1 x0.25x 50 B6 B 6 5 50 3 M1.1x0.25x 50 1C3 1C 3 5 50 3 =

M3.5x0.6 P6 [ 6 10 48 4 M8 x1.25 P8 [P 8 18 70 6.2 M1 x0.25x 50 B7 B 7 5 50 & M1.1x0.25x 50 1C4 1C 4 5 50 &}

I = M3.5x0.6 P7 P 7 10 48 4 M8 x1.25 P9 P 9 18 70 6.2 M1 x0.25x 50 B8 B 8 5 50 3 M1.1x0.25x 50 1C5 1C 5 5 50 3 ﬂ |

T ?il M4 x0.7 1C6 1C 6 10 52 5 M8 x1 1C7 1C 7 18 70 6.2 M1 x0.25x 50 3CO0 3C 0 5 50 3 M1.1x0.25x 50 1C6 1C 6 5 50 3 % T
9 m M4 x0.7 1C7 1C 7 10 52 5 M8 x1 1C8 1C 8 18 70 6.2 M1 x0.25x 50 3CI1 3C 1 5 50 3 M1.1x0.25x 50 1C7 1C 7 5 50 3 Eg
7 ; M4 x0.7 1C8 1C 8 10 52 5 M8 x1 1C9 1C 9 18 70 6.2 M1 x0.25x 50 3C2 3C 2 5 50 3 M1.1x0.25x 50 1C8 1C 8 5 50 3 g 7
I,/ M4 x0.7 B6 B 6 10 52 5 M8 x1 B7 B 7 18 70 6.2 M1 x0.25x 50 3C3 3C 3 5 50 3 M1.1x0.25x 50 BO B 0 5 50 3 I_/
v M4 x0.7 B7 B 7 10 52 5 M8 x1 B8 B 8 18 70 6.2 M1 x0.25x 50 3C4 3C 4 5 50 &} M1.1x0.25x 50 B1 B 1 5 50 &} v
I\ M4 x0.7 B8 B 8 10 52 5 M8 x1 B9 B 9 18 70 6.2 M1 x0.25x 50 3C5 3C 5 5 50 3 M1.1x0.25x 50 B2 B 2 5 50 3 l\
(I: M4 x0.7 P6 P 6 10 52 5 M8 x1 P7 P 7 18 70 6.2 M1 x0.25x 50 3C6 3C 6 5 50 3 M1.1x0.25x 50 B3 B 3 5 50 3 CI:

M4 x0.7 P7 P 7 10 52 5 M8 x1 P8 P 8 18 70 6.2 M1 x0.25x 50 3C7 3C 7 5 50 3 M1.1x0.25x 50 B4 B 4 5 50 3

M4 x0.7 P8 P 8 10 52 5 M8 x1 P9 P 9 18 70 6.2 M1 x0.25x 50 3C8 3C 8 5 50 3 M1.1x0.25x 50 B5 B 5 5 50 3

M5 x0.8 1C6 1C 6 10 60 515 M10 x1.5 1C7 1C 7 19 75 7 M1 x0.25x 50 PO P 0 5 50 3 M1.1x0.25x 50 B6 B 6 5 50 3

M5 x0.8 1C7 1C 7 10 60 55 M10 x1.5 1C8 1C 8 19 75 7 M1 x0.25x 50 P1 = 1 5 50 3 M1.1x0.25x 50 B7 B 7 5 50 3

M5 x0.8 1C8 1C 8 10 60 515 M10 x1.5 1C9 1C 9 19 75 7 M1 x0.25x 50 P2 P 2 5 50 3 M1.1x0.25x 50 B8 B 8 5 50 3

M5 x0.8 B6 B 6 10 60 55 M10 x1.5 B7 B 7 19 75 7 M1 x0.25x 50 P3 P 3 5 50 3 M1.1x0.25x 50 3CO0 3C 0 5 50 3

M5 x0.8 B7 B 7 10 60 55 M10 x1.5 B8 B 8 19 75 7 M1 x0.25x 50 P4 P 4 5 50 3 M1.1x0.25x 50 3CI1 3C 1 5 50 3

M5 x0.8 B8 B 8 10 60 55 M10 x1.5 B9 B 9 19 75 7 M1 x0.25x 50 P5 P 5 5 50 3 M1.1x0.25x 50 3C2 3C 2 5 50 3

M5 x0.8 P6 P 6 10 60 S5 M10 x1.5 P7 P 7 19 75 7 M1 x0.25x 50 P6 P 6 5 50 3 M1.1x0.25x 50 3C3 3C 3 5 50 3

M5 x0.8 P7 P 7 10 60 55 M10 x1.5 P8 P 8 19 75 7 M1 x025x 50 P7 = 7 5 50 3 M1.1x0.25x 50 3C4 3C 4 5 50 3

M5 x08 P8 P 8 10 60 55 M10 x1.5 P9 P 9 19 75 7 M1 x0.25x 50 P8 P 8 5 50 3 M1.1x0.25x 50 3C5 3C 5 5 50 3

M6 X1 1C7 1C 7 10 62 6 M10 x1.256 1C7 1C 7 19 75 7 M1 x0.2 x 50 1CO 1C 0 5 50 3 M1.1x0.25x 50 3C6 3C 6 5 50 3

M6 x1 1c8 1C 8 10 62 6 MI10 x1.25 1C8 1C 8 19 75 7 M1 x0.2 x 50 1C1 1C 1 5 50 3 M1.1x0.25x 50 3C7 3C 7 5 50 3

M6 X1 1C9 1C 9 10 62 6 MI10 x1.25 1C9 1C 9 19 75 7 M1 x0.2 x 50 1C2 1C 2 5 50 3 M1.1x0.25x 50 3C8 3C 8 5 50 3

M6 X1 B7 B 7 10 62 6 M10 x1.25 B7 B 7 19 75 7 M1 x0.2 x 50 1C3 1C 3 5 50 3 M1.1x0.25x 50 PO P 0 5 50 3

M6 x1 B8 B 8 10 62 6 M10 x1.25 B8 B 8 19 75 7 M1 x0.2 x 50 1C4 1C 4 5 50 3 M1.1x0.25x 50 P1 P 1 5 50 3

M6 X1 B9 B 9 10 62 6 M10 x1.25 B9 B 9 19 75 7 M1 x0.2 x 50 1C5 1C 5 5 50 3 M1.1x0.25x 50 P2 P 2 5 50 3

M6 X1 P7 P 7 10 62 6 M10 x1.256 P7 P 7 19 75 7 M1 x0.2 x 50 1C6 1C 6 5 50 3 M1.1x0.25x 50 P3 P 3 5 50 3

M6 x1 P8 P 8 10 62 6 M10 x1.25 P8 P 8 19 75 7 M1 x0.2 x 50 1C7 1C 7 5 50 3 M1.1x0.25x 50 P4 P 4 5 50 3

M6 X1 P9 P 9 10 62 6 MI10 x1.25 P9 P 9 19 75 7 M1 x0.2 x 50 1C8 1C 8 5 50 3 M1.1x0.25x 50 P5 P 5 5 50 3

M6 x0.75 1C7 1C 7 10 62 6 M10 x1 1C7 1C 7 19 75 7 M1 x0.2 x 50 BO B 0 5 50 3 M1.1x0.25x 50 P6 P 6 5 50 3

M6 x0.75 1C8 1C 8 10 62 6 M10 x1 1c8 1C 8 19 79 7 M1 x02 x 50 BI1 B 1 5 50 3 M1.1x025x 50 P7 P 7 5 50 3

M6 x0.75 1C9 1C 9 10 62 6 M10 x1 1C9 1C 9 19 75 7 M1 x0.2 X 50 B2 B 2 5 50 3 M1.1x0.25x 50 P8 P 8 5 50 3

M6 x0.75 B7 B 7 10 62 6 M10 x1 B7 B 7 19 75 7 M1 x0.2 x 50 B3 B 3 5 50 3 M1.1x0.2 x 50 1CO 1C 0 5 50 3

M6 x0.75 B8 B 8 10 62 6 M10 x1 B8 B 8 19 75 7 M1 x02 x 50 B4 B 4 5 50 3 M1.1x0.2 x 50 1C1 1C 1 5 50 3

M6 x0.75 B9 B 9 10 62 6 M10 x1 B9 B 9 19 75 7 M1 x0.2 x 50 B5 B 5 5 50 3 M1.1x0.2 x 50 1C2 1C 2 5 50 3

M6 x0.75 P7 P 7 10 62 6 M10 x1 P7 P 7 19 75 7 M1 x0.2 x 50 B6 B 6 5 50 3 M1.1x0.2 x 50 1C3 1C & 5 50 3

M6 x0.75 P8 P 8 10 62 6 M10 x1 P8 B 8 19 79 7 M1 x0.2 x 50 B7 B 7 5 50 3 M1.1x0.2 x 50 1C4 1C 4 5 50 3

M6 x0.75 P9 P 9 10 62 6 M10 x1 P9 P 9 19 75 7 M1 x0.2 x 50 B8 B 8 5 50 3 M1.1x0.2 x 50 1C5 1C 5 5 50 3

M1 x0.2 x 50 3CO0 3C 0 5 50 3 M1.1x0.2 x 50 1C6 1C 6 5 50 3

M1 x0.2 x 50 3C1 3C 1 5 50 3 M1.1x0.2 x 50 1C7 1C 7 5 50 3

M1 x0.2 x 50 3C2 3C 2 5 50 3 M1.1x0.2 x 50 1C8 1C 8 5 50 3

M1 x0.2 x 50 3C3 3C 8 5 50 3 M1.1x0.2 x 50 BO B 0 5 50 &

M1 x0.2 x 50 3C4 3C 4 5 50 3 M1.1x0.2 x 50 BI1 B 1 5 50 3

M1 x0.2 x 50 3C5 3C 5 5 50 3 M1.1x0.2 X 50 B2 B 2 5 50 3




ITY 0L wbh-C i1 TAFLET-C ITY0Lwbh-C i1 TAFLET-C

#ME&E HSSE FEWE:C #ME:HSSE FEWIE:C

Tap material Surface treatment Tap material Surface treatment

Iy FOBEBESOEHEE

o p
IT-TF-C OYY BfELS 7
50
1C 1w 2 j:
8 E& B 21 (;m) sal- U  EvF 2 BIBE| BT BE AR 2R R FU  EvF 2R BfIHE| BfY BE AR 2R W ga
I 3C 3w . M1.4x0.3 X 60 3C7 3C 7 7 60 3 M1.6x0.35xX 60 3C1 3C 1 8 60 3 3
s(f P | 4l = M1.4x0.3 x 60 3C8 | 3C 8 7 60 | 3 M1.6x0.35x 60 3C2 | 3C > 8 0o | 3 l j:.g
% % N M1.4x0.3 x 60 3C9 3C 9 7 60 3 M1.6x0.35X 60 3C3 3C 3 8 60 3 9%
; vy M1.4X0.3 X 60 P1 P 1 7 60 3 M1.6x0.35x 60 3C4 3C 4 8 60 2 ‘y;
o | i~ o | = M1.4X0.3 x 60 P2 P 2 7 60 3 M1.6x0.35x 60 3C5 3C 5 8 60 3
Bz U  EvF 2 BSBE| BT B AR 2R WE U  EvF 2 BOBE| BfY B AR 2R R e o o B 3 = 0 3 I L 3c 6 8 0 3 28
5% M1.1x0.2 x 50 B3 B 3 5 50 3 M1.2x0.2 x 50 1CO 1C 0 5 50 3 M1.4x0.3 x 60 P4 P 4 7 60 3 M1.6X0.35X 60 3C7 3C 7 8 60 3 i
= E M1.1xX0.2 x 50 B4 B 4 5 50 3 M1.2x0.2 x 50 1C1 1C 1 5 50 3 M1.4x0.3 x 60 P5 P 5 7 60 3 M1.6x0.35x 60 3C8 3C 8 8 60 3 B >
oY M1.1x0.2 x 50 B5 B 5 5 50 3 M1.2x0.2 x 50 1C2 1C 2 5 50 3 M1.4x0.3 X 60 P6 P 6 7 60 3 M1.6x0.35xX 60 3C9 3C 9 8 60 3 o=
4k M1.1x0.2 x 50 B6 B 6 5 50 3 M1.2x0.2 x 50 1C3 1C 3 5 50 3 M1.4X0.3 x 60 P7 P 7 7 60 3 M1.6X0.35X 60 P1 P 1 8 60 2 s
M1.1X0.2 x 50 B7 B 7 5 50 3 M1.2x0.2 x 50 1C4 1C 4 5 50 3 M1.4x0.3 X 60 P8 P 8 7 60 3 M1.6X0.35x 60 P2 P 2 8 60 g
o M1.1x0.2 x 50 BS B 8 5 50 3 M1.2x0.2 x 50 1C5 1C 5 5 50 3 M1.4x0.3 x 60 P9 P 9 7 60 3 M1.6x0.35x 60 P3 P 3 8 60 3 = f%
[S] M1.1x0.2 x 50 3CO 3c 0 5 50 3 M1.2x0.2 x 50 1C6 1C 6 5 50 3 M1.4x0.2 x 60 1CO 1C 0 7 60 3 M1.6x0.35X 60 P4 P 4 8 60 3 [S;
EF? M1.1xX0.2 x 50 3C1 3c 1 5 50 3 M1.2x0.2 x 50 1C7 1C 7 5 50 3 M1.4x0.2 x 60 1C1 1C 1 7 60 3 M1.6X0.35x 60 PS5 P 5 8 60 3 Fﬂ@
EE M1.1x0.2 x 50 3C2 3c 2 5 50 3 M1.2x0.2 x 50 1C8 1C 8 5 50 3 M1.4x0.2 x 60 1C2 1C 2 7 60 3 M1.6x0.35x 60 P86 P 6 8 60 3 Eg
21t M1.1x0.2 x 50 3C3 3C 3 5 50 3 M1.2x0.2 x 50 BO B 0 5 50 3 M1.4x0.2 x 60 1C3 1C 3 7 60 3 M1.6X0.35x 60 P7 P 7 8 60 g fFe
S M1.1x0.2 x 50 3C4 3c 4 5 50 3 M1.2x0.2 x 50 BI B 1 5 50 3 M1.4x0.2 x 60 1C4 1C 4 7 60 3 M1.6x0.35x 60 P8 P 8 8 60 g B
gﬁ M1.1x0.2 x 50 3C5 3c 5 5 50 3 M1.2x0.2 x 50 B2 B 2 5 50 3 M1.4x0.2 x 60 1C5 1C 5 7 60 3 M1.6x0.35x 60 P9 P 9 8 60 3 ﬁg
= M1.1x0.2 x 50 3C6 3c 6 5 50 3 M1.2x0.2 x 50 B3 B 3 5 50 3 M1.4x0.2 x 60 1C6 1C 6 7 60 3 M1.6x0.2 x 60 1CO 1C 0 8 60 3 =1
= M1.1xX0.2 x 50 3C7 3c 7 5 50 3 M1.2x0.2 x 50 B4 B 4 5 50 3 M1.4x0.2 x 60 1C7 1C 7 7 60 3 M1.6x0.2 x 60 1C1 1C 1 8 60 3 =
E‘ M1.1x0.2 x 50 3C8 3c 8 5 50 3 M1.2x0.2 x 50 B5 B 5 5 50 3 M1.4x0.2 x 60 1C8 1C 8 7 60 3 M1.6x0.2 x 60 1C2 1C 2 8 60 3 =
S M1.1x0.2 x 50 PO P 0 5 50 3 M1.2x0.2 x 50 B6 B 6 5 50 3 M1.4x0.2 x 60 BO B 0 7 60 3 M1.6x0.2 x 60 1C3 1C 3 8 60 3 S
M1.1X0.2 x 50 P1 P 1 5 50 3 M1.2x0.2 x 50 B7 B 7 5 50 3 M1.4X0.2 X 60 BI1 B 1 7 60 3 M1.6x0.2 x 60 1C4 1C 4 8 60 g
| = M1.1x0.2 x 50 P2 P 2 5 50 3 M1.2x0.2 x 50 B8 B 8 5 50 3 M1.4x0.2 x 60 B2 B 2 7 60 3 M1.6x0.2 x 60 1C5 1C 5 8 60 3 el
T% M1.1x0.2 x 50 P3 P 3 5 50 3 M1.2x0.2 x 50 3CO 3C 0 5 50 3 M1.4x0.2 x 60 B3 B 3 7 60 3 M1.6x0.2 x 60 1C6 1C 6 8 60 3 _%T
Ao M1.1x0.2 x 50O P4 P 4 5 50 3 M1.2x0.2 x 50 3C1 3c 1 5 50 3 M1.4x0.2 x 60 B4 B 4 7 60 3 M1.6x0.2 x 60 1C7 1C 7 8 60 3 nA
73 M1.1x0.2 x 50 P5 P 5 5 50 3 M1.2x0.2 x 50 3C2 3c 2 5 50 3 M1.4x0.2 x 60 B5 B 5 7 60 3 M1.6x0.2 x 60 1C8 1C 8 8 60 3 a7
L M1.1x0.2 x 50 P6 P 6 5 50 3 M1.2x0.2 x 50 3C3 3C 3 5 50 3 M1.4X0.2 X 60 B6 B 6 7 60 3 M1.6x0.2 x 60 BO B 0 8 60 3 L
W M1.1xX0.2 x 50 P7 P 7 5 50 3 M1.2x0.2 x 50 3C4 3C 4 5 50 3 M1.4x0.2 X 60 B7 B 7 7 60 3 M1.6x0.2 x 60 BI1 B 1 8 60 3 v
~ M1.1x0.2 x 50 P8 P 8 5 50 3 M1.2x0.2 x 50 3C5 3C 5 5 50 3 M1.4x0.2 x 60 B8 B 8 7 60 3 M1.6x0.2 x 60 B2 B 2 8 60 3 ~
CI: M1.2x0.25x 50 1CO C 0 5 50 3 M1.2x0.2 x 50 3C6 3c 6 5 50 3 M1.4x0.2 x 60 3CO 3C 0 7 60 3 M1.6x0.2 x 60 B3 B 3 8 60 3 é
M1.2x0.25x 50 1C1 1C 1 5 50 3 M1.2x0.2 x 50 3C7 3c 7 5 50 3 M1.4x0.2 x 60 3C1 3C 1 7 60 3 M1.6x0.2 x 60 B4 B 4 8 60 3
M1.2x0.25x 50 1C2 1C 2 5 50 3 M1.2x0.2 x 50 3C8 3c 8 5 50 3 M1.4x0.2 x 60 3C2 3C 2 7 60 3 M1.6x0.2 x 60 B5 B 5 8 60 3
M1.2x0.25x 50 1C3 1C 3 5 50 3 M1.2x0.2 x 50 PO P 0 5 50 3 M1.4x0.2 x 60 3C3 3C 3 7 60 3 M1.6x0.2 x 60 B6 B 6 8 60 3
M1.2x0.25x 50 1C4 1C 4 5 50 3 M1.2x0.2 x 50 P1 P 1 5 50 3 M1.4x0.2 x 60 3C4 3C 4 7 60 3 M1.6x0.2 x 60 B7 B 7 8 60 3
M1.2x0.25x 50 1C5 1C 5 5 50 3 M1.2x0.2 x 50 P2 P 2 5 50 3 M1.4x0.2 x 60 3C5 3C 5 7 60 3 M1.6x0.2 x 60 B8 B 8 8 60 3
M1.2x0.25x 50 1C6 C 6 5 50 3 M1.2x0.2 x 50 P3 P 3 5 50 3 M1.4x0.2 x 60 3C6 3C 6 7 60 3 M1.6x0.2 x 60 3CO 3C 0 8 60 3
M1.2x0.25x 50 1C7 1C 7 5 50 3 M1.2x0.2 x 50 P4 P 4 5 50 3 M1.4x0.2 x 60 3C7 3C 7 7 60 3 M1.6x0.2 x 60 3C1 3C 1 8 60 3
M1.2x0.25x 50 1C8 1C 8 5 50 3 M1.2x0.2 x 50 P5 P 5 5 50 3 M1.4x0.2 x 60 3C8 3C 8 7 60 3 M1.6x0.2 x 60 3C2 3C 2 8 60 3
M1.2x0.25x 50 BO B 0 5 50 3 M1.2x0.2 x 50 P6 P 6 5 50 3 M1.4x0.2 X 60 PO P 0 7 60 3 M1.6x0.2 x 60 3C3 3C 3 8 60 3
M1.2x0.25x 50 BI1 B 1 5 50 3 M1.2x0.2 x 50 P7 P 7 5 50 3 M1.4x0.2 X 60 P1 P 1 7 60 3 M1.6x0.2 x 60 3C4 3C 4 8 60 3
M1.2x0.25x 50 B2 B 2 5 50 3 M1.2x0.2 x 50 P8 P 8 5 50 3 M1.4x0.2 x 60 P2 P 2 7 60 3 M1.6x0.2 x 60 3C5 3C 5 8 60 3
M1.2x0.25x 50 B3 B 3 5 50 3 M1.4xX0.3 x 60 1CO 1C 1 7 60 3 M1.4x0.2 x 60 P3 P 3 7 60 3 M1.6x0.2 x 60 3C6 3C 6 8 60 3
M1.2x0.25x 50 B4 B 4 5 50 3 M1.4x0.3 x 60 1C1 1C 2 7 60 3 M1.4x0.2 x 60 P4 P 4 7 60 3 M1.6x0.2 x 60 3C7 3C 7 8 60 3
M1.2x0.25x 50 BS5 B 5 5 50 3 M1.4x0.3 x 60 1C2 1C 3 7 60 3 M1.4x0.2 x 60 P5 P 5 7 60 3 M1.6x0.2 x 60 3C8 3C 8 8 60 3
M1.2x0.25x 50 B6 B 6 5 50 3 M1.4x0.3 x 60 1C3 1C 4 7 60 3 M1.4x0.2 X 60 P6 P 6 7 60 3 M1.6x0.2 x 60 PO P 0 8 60 3
M1.2x0.25x 50 B7 B 7 5 50 3 M1.4x0.3 x 60 1C4 1C 5 7 60 3 M1.4x0.2 x 60 P7 P 7 7 60 3 M1.6x0.2 x 60 P1 P 1 8 60 3
M1.2x0.25x 50 B8 B 8 5 50 3 M1.4xX0.3 x 60 1C5 1C 6 7 60 3 M1.4x0.2 x 60 P8 P 8 7 60 3 M1.6x0.2 x 60 P2 P 2 8 60 3
M1.2x0.25x 50 3CO 3c 0 5 50 3 M1.4X0.3 x 60 1C6 1C 7 7 60 3 M1.6x0.35x 60 1C1 1C 1 8 60 3 M1.6x0.2 x 60 P3 P 3 8 60 3
M1.2x0.25x 50 3C1 3c 1 5 50 3 M1.4x0.3 x 60 1C7 1C 8 7 60 3 M1.6x0.35x 60 1C2 1C 2 8 60 3 M1.6x0.2 x 60 P4 P 4 8 60 3
M1.2x0.25x 50 3C2 3c 2 5 50 3 M1.4x0.3 x 60 1C8 1C 9 7 60 3 M1.6x0.35x 60 1C3 1C 3 8 60 3 M1.6x0.2 x 60 P5 P 5 8 60 3
M1.2x0.25x 50 3C3 3C 3 5 50 3 M1.4x0.3 x 60 BO B 1 7 60 3 M1.6x0.35x 60 1C4 1C 4 8 60 3 M1.6x0.2 x 60 P6 P 6 8 60 3
M1.2x0.25x 50 3C4 3C 4 5 50 3 M1.4X0.3 x 60 BI B 2 7 60 3 M1.6x0.35x 60 1C5 1C 5 8 60 3 M1.6x0.2 x 60 P7 P 7 8 60 3
M1.2x0.25x 50 3C5 3C 5 5 50 3 M1.4x0.3 x 60 B2 B 3 7 60 3 M1.6x0.35x 60 1C6 1C 6 8 60 3 M1.6x0.2 x 60 P8 P 8 8 60 3
M1.2x0.25x 50 3C6 3c 6 5 50 3 M1.4X0.3 x 60 B3 B 4 7 60 3 M1.6X0.35x 60 1C7 1C 7 8 60 3 M1.7x0.35xX 60 1C1 1C 1 8 60 3
M1.2x0.25x 50 3C7 3c 7 5 50 3 M1.4x0.3 x 60 B4 B 5 7 60 3 M1.6x0.35x 60 1C8 1c 8 8 60 3 M1.7x0.35x 60 1C2 1C 2 8 60 3
M1.2x0.25x 50 3C8 3c 8 5 50 3 M1.4x0.3 x 60 B5 B 6 7 60 3 M1.6x0.35x 60 1C9 1C 9 8 60 3 M1.7x0.35x 60 1C3 1C 3 8 60 3
M1.2x0.25x 50 PO P 0 5 50 3 M1.4X0.3 x 60 B6 B 7 7 60 3 M1.6X0.35x 60 B1 B 1 8 60 3 M1.7x0.35x 60 1C4 1C 4 8 60 3
M1.2x0.25x 50 P1 P 1 5 50 3 M1.4x0.3 x 60 B7 B 8 7 60 3 M1.6x0.35x 60 B2 B 2 8 60 3 M1.7x0.35x 60 1C5 1C 5 8 60 3
M1.2x0.25x 50 P2 P 2 5 50 3 M1.4x0.3 x 60 B8 B 9 7 60 3 M1.6x0.35x 60 B3 B 3 8 60 3 M1.7x0.35x 60 1C6 1C 6 8 60 3
M1.2x0.25x 50 P3 P 3 5 50 3 M1.4X0.3 x 60 3C1 3c 1 7 60 3 M1.6x0.35x 60 B4 B 4 8 60 3 M1.7X0.35X 60 1C7 1C 7 8 60 3
M1.2x0.25x 50 P4 P 4 5 50 3 M1.4x0.3 x 60 3C2 3c 2 7 60 3 M1.6x0.35x 60 B5 B 5 8 60 3 M1.7x0.35x 60 1C8 ic 8 8 60 3
M1.2x0.25x 50 P5 P 5 5 50 3 M1.4x0.3 x 60 3C3 3C 3 7 60 3 M1.6x0.35x 60 B6 B 6 8 60 3 M1.7x0.35x 60 1C9 1C 9 8 60 3
M1.2x0.25x 50 P6 P 6 5 50 3 M1.4x0.3 x 60 3C4 3C 4 7 60 3 M1.6X0.35x 60 B7 B 7 8 60 3 M1.7X0.35x 60 BI1 B 1 8 60 3
M1.2x0.25x 50 P7 P 7 5 50 3 M1.4x0.3 x 60 3C5 3C 5 7 60 3 M1.6x0.35x 60 B8 B 8 8 60 3 M1.7x0.35x 60 B2 B 2 8 60 3
M1.2x0.25x 50 P8 P 8 5 50 3 M1.4x0.3 x 60 3C6 3C 6 7 60 3 M1.6x0.35x 60 B9 B 9 8 60 3 M1.7x0.35x 60 B3 B 3 8 60 3




ITY 0L wbh-C i1 TAFLET-C ITY0Lwbh-C i1 TAFLET-C

#ME&E HSSE FEWE:C #ME:HSSE FEWIE:C

Tap material Surface treatment Tap material Surface treatment

Iy FOBEBESOEHEE

o p
IT-TF-C OYY BfELS 7
50
1C 1w 2 j:
8 g B 21 (:m) sal- U  EvF 2 BIBE| BT BE AR 2R R FU  EvF 2R BfIHE| BfY BE AR 2R W ga
3k 3C 3w . M1.8x0.2 x 60 3C6 3C 6 8 60 3 M2 x0.25x 60 3C1 3C 1 9 60 3 3
glf P | 4l = M1.8x0.2 x 60 3C7 | 3C 7 8 60 | 3 M2 x0.25x 60 3C2 | 3C > 9 0o | 3 l j{.g
% % . M1.8x0.2 x 60 3C8 3C 8 8 60 3 M2 x0.25x 60 3C3 3C 3 9 60 3 962)
;_>' Wy M1.8x0.2 x 60 PO P 0 8 60 3 M2 x0.25x 60 3C4 3C 4 9 60 2 ‘y;
o | i~ o | = M1.8x0.2 X 60 P1 P 1 8 60 3 M2 x0.25x 60 3C5 3C 5 9 60 3
82 U  EvF 2 BSBE| BT B AR 2R WE U  EvF 2 BOBE| BfY B AR 2R R e o o B > 8 0 3 e 3c 6 9 0 3 23
3% M1.7x0.35x 60 B4 B 4 8 60 3 M1.8x0.35x 60 1C1 1C 1 8 60 3 M1.8x0.2 x 60 P3 P 3 8 60 3 M2 x0.25x 60 3C7 3C 7 9 60 3 ¥ 5
= B M1.7x0.35x 60 BS B 5 8 60 3 M1.8x0.35x 60 1C2 1C 2 8 60 3 M1.8x0.2 x 60 P4 P 4 8 60 3 M2 x0.25x 60 3C8 3C 8 9 60 3 B >
oY M1.7x0.35x 60 B6 B 6 8 60 3 M1.8x0.35x 60 1C3 1C 3 8 60 3 M1.8x0.2 x 60 P5 P 5 8 60 3 M2 x0.25x 60 3C9 3C 9 9 60 3 3 [
Jt M1.7x0.35x 60 B7 B 7 8 60 3 M1.8x0.35x 60 1C4 1C 4 8 60 3 M1.8x0.2 x 60 P6 P 6 8 60 3 M2 x0.25x 60 P1 P 1 9 60 2 LS
M1.7x0.35x 60 B8 B 8 8 60 3 M1.8x0.35x 60 1C5 1C 5 8 60 3 M1.8x0.2 x 60 P7 P 7 8 60 3 M2 x0.25x 60 P2 P 2 9 60 g
o5 M1.7x0.35x 60 B9 B 9 8 60 3 M1.8x0.35x 60 1C6 1C 6 8 60 3 M1.8x0.2 x 60 P8 P 8 8 60 3 M2 x0.25x 60 P3 P 3 9 60 3 =g
g M1.7x0.35x 60 3C1 3c 1 8 60 3 M1.8x0.35x 60 1C7 1C 7 8 60 3 M2 x0.4 x 60 1C1 1C 1 9 60 3 M2 x0.25x 60 P4 P 4 9 60 3 [=;
EFﬂ M1.7x0.35x 60 3C2 3c 2 8 60 3 M1.8x0.35x 60 1C8 1C 8 8 60 3 M2 x0.4 x 60 1C2 1C 2 9 60 3 M2 x0.25x 60 PS5 P 5 9 60 3 Fﬂ@
EE M1.7x0.35x 60 3C3 3c 3 8 60 3 M1.8x0.35x 60 1C9 1C 9 8 60 3 M2 x0.4 x 60 1C3 1C 3 9 60 3 M2 x0.25x 60 P86 P 6 9 60 3 Eg
2 1E M1.7x0.35x 60 3C4 3C 4 8 60 3 M1.8x0.35x 60 BI1 B 1 8 60 3 M2 x0.4 x 60 1C4 1C 4 9 60 3 M2 x0.25x 60 P7 P 7 9 60 g T2
S M1.7x0.35x 60 3C5 3c 5 8 60 3 M1.8x0.35x 60 B2 B 2 8 60 3 M2 x0.4 x 60 1C5 1C 5 9 60 3 M2 x0.25x 60 P8 P 8 9 60 g B
gi M1.7x0.35x 60 3C6 3c 6 8 60 3 M1.8x0.35x 60 B3 B 3 8 60 3 M2 x0.4 x 60 1C6 1C 6 9 60 3 M2 x0.25x 60 P9 P 9 9 60 3 §£
o M1.7x0.35x 60 3C7 3c 7 8 60 3 M1.8x0.35x 60 B4 B 4 8 60 3 M2 x0.4 x 60 1C7 1c 7 9 60 3 M2 x0.4 x 80 1C1 1C 1 9 80 3 =
3 M1.7x0.35x 60 3C8 3c 8 8 60 3 M1.8x0.35x 60 BS5 B 5 8 60 3 M2 x0.4 x 60 1C8 1C 8 9 60 3 M2 x0.4 x 80 1C2 1C 2 9 80 3 =
e M1.7x0.35x 60 3C9 3c 9 8 60 3 M1.8x0.35x 60 B6 B 6 8 60 3 M2 x0.4 x 60 1C9 1C 9 9 60 3 M2 x0.4 x 80 1C3 1C 3 9 80 3 =
S M1.7X0.35x 60 P1 P 1 8 60 3 M1.8x0.35x 60 B7 B 7 8 60 3 M2 x0.4 x 60 BI B 1 9 60 3 M2 x0.4 x 80 1C4 1C 4 9 80 3 =]
M1.7x0.35x 60 P2 P 2 8 60 3 M1.8x0.35x 60 B8 B 8 8 60 3 M2 x0.4 x 60 B2 B 2 9 60 3 M2 x0.4 x 80 1C5 1C 5 9 80 g
| = M1.7x0.35x 60 P3 P 3 8 60 3 M1.8x0.35x 60 B9 B 9 8 60 3 M2 x0.4 x 60 B3 B 3 9 60 3 M2 x0.4 x 80 1C6 1C 6 9 80 3 3
T% M1.7xX0.35x 60 P4 P 4 8 60 3 M1.8x0.35x 60 3C1 3C 1 8 60 3 M2 x0.4 x 60 B4 B 4 9 60 3 M2 x0.4 x 80 1C7 1C 7 9 80 3 %T
<= M1.7x0.35x 60 P5 P 5 8 60 3 M1.8x0.35x 60 3C2 3c 2 8 60 3 M2 x0.4 x 60 BS B 5 9 60 3 M2 x0.4 x 80 1C8 1C 8 9 80 3 A
73 M1.7x0.35x 60 P6 P 6 8 60 3 M1.8x0.35x 60 3C3 3c 3 8 60 3 M2 x0.4 x 60 B6 B 6 9 60 3 M2 x0.4 x 80 1C9 1C 9 9 80 3 a7
L M1.7x0.35x 60 P7 P 7 8 60 3 M1.8x0.35x 60 3C4 3C 4 8 60 3 M2 x0.4 x 60 B7 B 7 9 60 3 M2 x0.4 x 80 BI B 1 9 80 3 L
W M1.7x0.35x 60 P8 P 8 8 60 3 M1.8x0.35x 60 3C5 3C 5 8 60 3 M2 x0.4 x 60 B8 B 8 9 60 3 M2 x0.4 x 80 B2 B 2 9 80 3 P
~ M1.7x0.35x 60 P9 P 9 8 60 3 M1.8x0.35x 60 3C6 3C 6 8 60 3 M2 x0.4 x 60 B9 B 9 9 60 3 M2 x0.4 x 80 B3 B 3 9 80 3 ~
(': M1.7x0.2 x 60 1CO C 0 8 60 3 M1.8x0.35x 60 3C7 3c 7 8 60 3 M2 x0.4 x 60 3C1 3C 1 9 60 3 M2 x0.4 x 80 B4 B 4 9 80 3 CII
M1.7x0.2 x 60 1C1 C 1 8 60 3 M1.8x0.35x 60 3C8 3c 8 8 60 3 M2 x0.4 x 60 3C2 3C 2 9 60 3 M2 x0.4 x 80 BS B 5 9 80 3
M1.7x0.2 x 60 1C2 1C 2 8 60 3 M1.8x0.35x 60 3C9 3c 9 8 60 3 M2 x0.4 x 60 3C3 3C 3 9 60 3 M2 x0.4 x 80 B6 B 6 9 80 3
M1.7x0.2 x 60 1C3 1C 3 8 60 3 M1.8x0.35x 60 P1 P 1 8 60 3 M2 x0.4 x 60 3C4 3C 4 9 60 3 M2 x0.4 x 80 B7 B 7 9 80 3
M1.7x0.2 x 60 1C4 1C 4 8 60 3 M1.8x0.35x 60 P2 P 2 8 60 3 M2 x0.4 x 60 3C5 3C 5 9 60 3 M2 x0.4 x 80 BS B 8 9 80 3
M1.7x0.2 x 60 1C5 1C 5 8 60 3 M1.8x0.35x 60 P3 P 3 8 60 3 M2 x0.4 x 60 3C6 3C 6 9 60 3 M2 x0.4 x 80 B9 B 9 9 80 3
M1.7x0.2 x 60 1C6 C 6 8 60 3 M1.8x0.35x 60 P4 P 4 8 60 3 M2 x0.4 x 60 3C7 3C 7 9 60 3 M2 x0.4 x 80 3C1 3C 1 9 80 3
M1.7x0.2 x 60 1C7 1C 7 8 60 3 M1.8x0.35x 60 P5 P 5 8 60 3 M2 x0.4 x 60 3C8 3C 8 9 60 3 M2 x0.4 x 80 3C2 3C 2 9 80 3
M1.7x0.2 x 60 1C8 1C 8 8 60 3 M1.8x0.35x 60 P6 P 6 8 60 3 M2 x0.4 x 60 3C9 3C 9 9 60 3 M2 x0.4 x 80 3C3 3C 3 9 80 3
M1.7x0.2 x 60 BO B 0 8 60 3 M1.8x0.35x 60 P7 P 7 8 60 3 M2 x0.4 x 60 P1 P 1 9 60 3 M2 x0.4 x 80 3C4 3C 4 9 80 3
M1.7x0.2 x 60 BI B 1 8 60 3 M1.8x0.35x 60 P8 P 8 8 60 3 M2 x0.4 x 60 P2 P 2 9 60 3 M2 x0.4 x 80 3C5 3C 5 9 80 3
M1.7x0.2 x 60 B2 B 2 8 60 3 M1.8x0.35x 60 P9 P 9 8 60 3 M2 x0.4 x 60 P3 P 3 9 60 3 M2 x0.4 x 80 3C6 3C 6 9 80 3
M1.7x0.2 x 60 B3 B 3 8 60 3 M1.8x0.2 x 60 1CO 1C 0 8 60 3 M2 x0.4 x 60 P4 P 4 9 60 3 M2 x0.4 x 80 3C7 3C 7 9 80 3
M1.7x0.2 x 60 B4 B 4 8 60 3 M1.8x0.2 x 60 1C1 1C 1 8 60 3 M2 x0.4 x 60 PS5 P 5 9 60 3 M2 x0.4 x 80 3C8 3C 8 9 80 3
M1.7x0.2 x 60 B5 B 5 8 60 3 M1.8x0.2 x 60 1C2 1C 2 8 60 3 M2 x0.4 x 60 P86 P 6 9 60 3 M2 x0.4 x 80 3C9 3C 9 9 80 3
M1.7x0.2 x 60 B6 B 6 ) 60 3 M1.8x0.2 x 60 1C3 1C 3 8 60 3 M2 x0.4 X 60 P7 P 7 9 60 3 M2 x0.4 x 80 Pl P 1 9 80 3
M1.7x0.2 x 60 B7 B 7 8 60 3 M1.8x0.2 x 60 1C4 1C 4 8 60 3 M2 x0.4 x 60 P8 P 8 9 60 3 M2 x0.4 x 80 P2 P 2 9 80 3
M1.7x0.2 x 60 BS B 8 8 60 3 M1.8x0.2 x 60 1C5 1C 5 8 60 3 M2 x0.4 x 60 P9 P 9 9 60 3 M2 x0.4 x 80 P3 P 3 9 80 3
M1.7x0.2 x 60 3CO 3c 0 8 60 3 M1.8x0.2 x 60 1C6 1C 6 8 60 3 M2 x0.25x 60 1C1 1c 1 9 60 3 M2 x0.4 x 80 P4 P 4 9 80 3
M1.7x0.2 x 60 3C1 3c 1 8 60 3 M1.8x0.2 x 60 1C7 1C 7 8 60 3 M2 x0.25x 60 1C2 1C 2 9 60 3 M2 x0.4 x 80 PS5 P 5 9 80 3
M1.7x0.2 x 60 3C2 3c 2 8 60 3 M1.8x0.2 x 60 1C8 1C 8 8 60 3 M2 x0.25x 60 1C3 1C 3 9 60 3 M2 x0.4 x 80 P86 P 6 9 80 3
M1.7x0.2 x 60 3C3 3C 3 ) 60 3 M1.8x0.2 x 60 BO B 0 8 60 3 M2 x0.25x 60 1C4 1C 4 9 60 3 M2 x0.4 x 80 P7 P 7 9 80 3
M1.7x0.2 x 60 3C4 3C 4 8 60 3 M1.8x0.2 x 60 BI B 1 8 60 3 M2 x0.25x 60 1C5 1C 5 9 60 3 M2 x0.4 x 80 P8 P 8 9 80 3
M1.7x0.2 x 60 3C5 3C 5 8 60 3 M1.8x0.2 x 60 B2 B 2 8 60 3 M2 x0.25x 60 1C6 1C 6 9 60 3 M2 x0.4 x 80 P9 P 9 9 80 3
M1.7x0.2 x 60 3C6 3c 6 8 60 3 M1.8x0.2 x 60 B3 B 3 8 60 3 M2 x0.25x 60 1C7 1c 7 9 60 3 M2 x0.25x 80 1C1 1C 1 9 80 3
M1.7x0.2 x 60 3C7 3c 7 8 60 3 M1.8x0.2 x 60 B4 B 4 8 60 3 M2 x0.25x 60 1C8 1c 8 9 60 3 M2 x0.25x 80 1C2 ic 2 9 80 3
M1.7x0.2 x 60 3C8 3c 8 8 60 3 M1.8x0.2 x 60 B5 B 5 8 60 3 M2 x0.25x 60 1C9 1C 9 9 60 3 M2 x0.25x 80 1C3 1C 3 9 80 3
M1.7x0.2 x 60 PO P 0 8 60 3 M1.8x0.2 x 60 B6 B 6 8 60 3 M2 x0.25x 60 BI1 B 1 9 60 3 M2 x0.25x 80 1C4 1C 4 9 80 3
M1.7x0.2 x 60 P1 P 1 8 60 3 M1.8x0.2 x 60 B7 B 7 8 60 3 M2 x0.25x 60 B2 B 2 9 60 3 M2 x0.25x 80 1C5 ic 5 9 80 3
M1.7x0.2 x 60 P2 P 2 8 60 3 M1.8x0.2 x 60 B8 B 8 8 60 3 M2 x0.25x 60 B3 B 3 9 60 3 M2 x0.25x 80 1C6 1C 6 9 80 3
M1.7x0.2 x 60 P3 P 3 8 60 3 M1.8x0.2 x 60 3CO 3c 0 8 60 3 M2 x0.25x 60 B4 B 4 9 60 3 M2 x0.25x 80 1C7 1C 7 9 80 3
M1.7x0.2 x 60 P4 P 4 8 60 3 M1.8x0.2 x 60 3C1 3c 1 8 60 3 M2 x0.25x 60 B5 B 5 9 60 3 M2 x0.25x 80 1C8 ic 8 9 80 3
M1.7x0.2 x 60 P5 P 5 8 60 3 M1.8x0.2 x 60 3C2 3C 2 8 60 3 M2 x0.25x 60 B6 B 6 9 60 3 M2 x0.25x 80 1C9 1C 9 9 80 3
M1.7x0.2 x 60 P6 P 6 8 60 3 M1.8x0.2 x 60 3C3 3C 3 8 60 3 M2 x0.25x 60 B7 B 7 9 60 3 M2 x0.25x 80 BI B 1 9 80 3
M1.7x0.2 x 60 P7 P 7 8 60 3 M1.8x0.2 x 60 3C4 3C 4 8 60 3 M2 x0.25x 60 BS B 8 9 60 3 M2 x0.25x 80 B2 B 2 9 80 3
M1.7x0.2 x 60 P8 P 8 8 60 3 M1.8x0.2 x 60 3C5 3C 5 8 60 3 M2 x0.25x 60 B9 B 9 9 60 3 M2 x0.25x 80 B3 B 3 9 80 3




ITY 0L wbh-C i1 TAFLET-C ITY0Lwbh-C i1 TAFLET-C

#ME&E HSSE FEWE:C #ME:HSSE FEWIE:C

Tap material Surface treatment Tap material Surface treatment

Iy FOBEBESOEHEE

.
IT-TF-C OYY BfELS 7
50
1C 1w 2 3:
8 g B 21 (;ﬂ) sal- U  EvF 2 BIBE| BT BE AR 2R R U  EvF 2R BIBE| BT BE AR 2R W ga
3k 3C 3w . M2.2x0.45x 80 3C7 3C 7 8 80 3 M2.3x0.4 x 60 3C1 3C 1 9 60 3 3
glj:‘ P i 25 M2.2x0.45x 80 3C8 3C 8 8 80 3 M2.3x0.4 X 60 3C2 3C 2 9 680 3 lj:‘g
% % . M2.2x0.45x 80 3C9 3C 9 8 80 3 M2.3x0.4 x 60 3C3 3C 3 9 60 3 962)
;_>' o M2.2x0.45x 80 P1 P 1 8 80 3 M2.3x0.4 x 60 3C4 3C 4 9 60 3 o ;
o | i~ o | i~ M2.2x0.45x 80 P2 P 2 8 80 3 M2.3x0.4 x 60 3C5 3C 5 9 60 3
82 U  EvF 2 BSBE| BT B AR 2R WE U  EvF 2 BOBE| BfY B AR 2R R e 0 B 3 8 80 3 Sk L 3c 6 9 0 3 Za
5% M2 x0.25x 80 B4 B 4 9 80 3 M2.2x0.25x 60 1C1 1C 1 9 60 3 M2.2x0.45x 80 P4 P 4 8 80 3 M2.3x0.4 x 60 3C7 3C 7 9 60 3 ¥ 5
> B M2 x0.25x 80 BS5 B 5 9 80 3 M2.2x0.25x 60 1C2 1C 2 9 60 3 M2.2x0.45x 80 PS5 P 5 8 80 3 M2.3x0.4 x 60 3C8 3C 8 9 60 3 B >
oY M2 x0.25x 80 B6 B 6 9 80 3 M2.2x0.25x 60 1C3 1C 3 9 60 3 M2.2x0.45x 80 P6 P 6 8 80 3 M2.3x0.4 x 60 3C9 3C 9 9 60 3 3 [
Jt M2 x0.25x 80 B7 B 7 9 80 3 M2.2x0.25x 60 1C4 1C 4 9 60 3 M2.2x0.45x 80 P7 P 7 8 80 3 M2.3x0.4 x 60 PI1 P 1 9 60 2 LS
M2 x0.25x 80 B8 B 8 9 80 3 M2.2x0.25x 60 1C5 1C 5 9 60 3 M2.2x0.45x 80 P8 P 8 8 80 3 M2.3x0.4 x 60 P2 P 2 9 60 g
og M2 x0.25x 80 B9 B 9 9 80 3 M2.2x0.25x 60 1C6 1C 6 9 60 3 M2.2x0.45x 80 P9 P 9 8 80 3 M2.3x0.4 x 60 P3 P 3 9 60 3 =g
g M2 x0.25x 80 3C1 3C 1 9 80 3 M2.2x0.25x 60 1C7 1C 7 9 60 3 M2.2x0.25x 80 1C1 1C 1 9 80 3 M2.3x0.4 x 60 P4 P 4 9 60 3 [=;
EF? M2 x0.25x 80 3C2 3C 2 9 80 3 M2.2x0.25x 60 1C8 1C 8 9 60 3 M2.2x0.25x 80 1C2 1C 2 9 80 3 M2.3x0.4 x 60 P5 P 5 9 60 3 Fﬂ@
EE M2 x0.25x 80 3C3 3C 3 9 80 3 M2.2x0.25x 60 1C9 1C 9 9 60 3 M2.2x0.25x 80 1C3 1C 3 9 80 3 M2.3x0.4 x 60 P6 P 6 9 60 3 EE
2 1E M2 x0.25x 80 3C4 3C 4 9 80 3 M2.2x0.25x 60 B B 1 9 60 3 M2.2x0.25x 80 1C4 1C 4 9 80 3 M2.3x0.4 x 60 P7 P 7 9 60 g T2
Sk M2 x0.25x 80 3C5 3C 5 9 80 3 M2.2x0.25x 60 B2 B 2 9 60 3 M2.2x0.25x 80 1C5 1C 5 9 80 3 M2.3x0.4 x 60 P8 P 8 9 60 g B
gﬁ M2 x0.25x 80 3C6 3C 6 9 80 3 M2.2x0.25x 60 B3 B 3 9 60 3 M2.2x0.25x 80 1C6 1C 6 9 80 3 M2.3x0.4 x 60 P9 P 9 9 60 3 ﬁ%
o M2 x0.25x 80 3C7 3C 7 9 80 3 M2.2x0.25x 60 B4 B 4 9 60 3 M2.2x0.25x 80 1C7 1C 7 9 80 3 M2.3x0.25xX 60 1C1 1C 1 9 60 3 =
= M2 x0.25x 80 3C8 3C 8 9 80 3 M2.2x0.25x 60 BS5 B 5 9 60 3 M2.2x0.25x 80 1C8 1C 8 9 80 3 M2.3x0.25x 60 1C2 1C 2 9 60 3 =
e M2 x0.25x 80 3C9 3C 9 9 80 3 M2.2x0.25x 60 B6 B 6 9 60 3 M2.2x0.25x 80 1C9 1C 9 9 80 3 M2.3x0.25x 60 1C3 1C 3 9 60 3 =
S M2 x0.25x 80 PI1 P 1 9 80 3 M2.2x0.25x 60 B7 B 7 9 60 3 M2.2x0.25x 80 BI1 B 1 9 80 3 M2.3x0.25x 60 1C4 1C 4 9 60 g =]
M2 x0.25x 80 P2 P 2 9 80 3 M2.2x0.25x 60 B8 B 8 9 60 3 M2.2x0.25x 80 B2 B 2 9 80 3 M2.3x0.25x 60 1C5 1C 5 9 60 3
| = M2 x0.25x 80 P3 P 3 9 80 3 M2.2x0.25x 60 B9 B 9 9 60 3 M2.2x0.25x 80 B3 B 3 9 80 3 M2.3x0.25x 60 1C6 1C 6 9 60 3 3
T% M2 x0.25x 80 P4 P 4 9 80 3 M2.2x0.25x 60 3C1 3C 1 9 60 3 M2.2x0.25x 80 B4 B 4 9 80 3 M2.3x0.25x 60 1C7 1C 7 9 60 3 %T
<= M2 x0.25x 80 P5 P 5 9 80 3 M2.2x0.25x 60 3C2 3c 2 9 60 3 M2.2x0.25x 80 BS B 5 9 80 3 M2.3x0.25x 60 1C8 1C 8 9 60 3 A
73 M2 x0.25x 80 P6 P 6 9 80 3 M2.2x0.25x 60 3C3 3C 3 9 60 3 M2.2x0.25x 80 B6 B 6 9 80 3 M2.3x0.25x 60 1C9 1C 9 9 60 3 a7
L M2 x0.25x 80 P7 P 7 9 80 3 M2.2x0.25x 60 3C4 3C 4 9 60 3 M2.2x0.25x 80 B7 B 7 9 80 3 M2.3X0.25x 60 B1 B 1 9 60 3 L
WY M2 x0.25x 80 P8 P 8 9 80 3 M2.2x0.25x 60 3C5 3C 5 9 60 3 M2.2x0.25x 80 BS B 8 9 80 3 M2.3x0.25x 60 B2 B 2 9 60 3 P
~ M2 x0.25x 80 P9 P 9 9 80 3 M2.2x0.25x 60 3C6 3C 6 9 60 3 M2.2x0.25x 80 B9 B 9 9 80 3 M2.3x0.25x 60 B3 B 3 9 60 3 ~
('3 M2.2x0.45x 60 1C1 1C 1 9 60 3 M2.2x0.25x 60 3C7 3c 7 9 60 3 M2.2x0.25x 80 3C1 3C 1 9 80 3 M2.3x0.25x 60 B4 B 4 9 60 3 CII
M2.2x0.45x 60 1C2 1C 2 9 60 3 M2.2x0.25x 60 3C8 3c 8 9 60 3 M2.2x0.25x 80 3C2 3C 2 9 80 3 M2.3x0.25x 60 BS B 5 9 60 3
M2.2x0.45x 60 1C3 1C 3 9 60 3 M2.2x0.25x 60 3C9 3C 9 9 60 3 M2.2x0.25x 80 3C3 3C 3 9 80 3 M2.3x0.25x 60 B6 B 6 9 60 3
M2.2x0.45x 60 1C4 1C 4 9 60 3 M2.2x0.25x 60 P1 P 1 9 60 3 M2.2x0.25x 80 3C4 3C 4 9 80 3 M2.3x0.25x 60 B7 B 7 9 60 3
M2.2x0.45x 60 1C5 1C 5 9 60 3 M2.2x0.25x 60 P2 P 2 9 60 3 M2.2x0.25x 80 3C5 3C 5 9 80 3 M2.3x0.25x 60 B8 B 8 9 60 3
M2.2x0.45x 60 1C6 1C 6 9 60 3 M2.2x0.25x 60 P3 P 3 9 60 3 M2.2x0.25x 80 3C6 3C 6 9 80 3 M2.3x0.25x 60 B9 B 9 9 60 3
M2.2x0.45x 60 1C7 1C 7 9 60 3 M2.2x0.25x 60 P4 P 4 9 60 3 M2.2x0.25x 80 3C7 3C 7 9 80 3 M2.3x0.25x 60 3C1 3C 1 9 60 3
M2.2x0.45x 60 1C8 1C 8 9 60 3 M2.2x0.25x 60 P5 P 5 9 60 3 M2.2x0.25x 80 3C8 3C 8 9 80 3 M2.3x0.25x 60 3C2 3C 2 9 60 3
M2.2x0.45x 60 1C9 1C 9 9 60 3 M2.2x0.25x 60 P6 P 6 9 60 3 M2.2x0.25x 80 3C9 3C 9 9 80 3 M2.3x0.25x 60 3C3 3C 3 9 60 3
M2.2x0.45x 60 BI1 B 1 9 60 3 M2.2x0.25x 60 P7 P 7 9 60 3 M2.2x0.25x 80 P1 P 1 9 80 3 M2.3x0.25x 60 3C4 3C 4 9 60 3
M2.2x0.45x 60 B2 B 2 9 60 3 M2.2x0.25x 60 P8 P 8 9 60 3 M2.2x0.25x 80 P2 P 2 9 80 3 M2.3x0.25x 60 3C5 3C 5 9 60 3
M2.2x0.45x 60 B3 B 3 9 60 3 M2.2x0.25x 60 P9 P 9 9 60 3 M2.2x0.25x 80 P3 P 3 9 80 3 M2.3x0.25x 60 3C6 3C 6 9 60 3
M2.2x0.45x 60 B4 B 4 9 60 3 M2.2x0.45x 80 1C1 1C 1 9 80 3 M2.2x0.25x 80 P4 P 4 9 80 3 M2.3x0.25x 60 3C7 3C 7 9 60 3
M2.2x0.45x 60 BS5 B 5 9 60 3 M2.2x0.45x 80 1C2 1C 2 9 80 3 M2.2x0.25x 80 P5 P 5 9 80 3 M2.3x0.25x 60 3C8 3C 8 9 60 3
M2.2x0.45x 60 B6 B 6 9 60 3 M2.2x0.45x 80 1C3 1C 3 9 80 3 M2.2x0.25x 80 P86 P 6 9 80 3 M2.3x0.25x 60 3C9 3C 9 9 60 3
M2.2x0.45x 60 B7 B 7 9 60 3 M2.2x0.45x 80 1C4 1C 4 9 80 3 M2.2x0.25x 80 P7 P 7 9 80 3 M2.3x0.25x 60 P1 P 1 9 60 3
M2.2x0.45x 60 B8 B 8 9 60 3 M2.2x0.45x 80 1C5 1C 5 9 80 3 M2.2x0.25x 80 P8 P 8 9 80 3 M2.3x0.25x 60 P2 P 2 9 60 3
M2.2x0.45x 60 B9 B 9 9 60 3 M2.2x0.45x 80 1C6 1C 6 9 80 3 M2.2x0.25x 80 P9 P 9 9 80 3 M2.3x0.25x 60 P3 P 3 9 60 3
M2.2x0.45x 60 3C1 3C 1 9 60 3 M2.2x0.45x 80 1C7 1C 7 9 80 3 M2.3x0.4 x 60 1C1 1C 1 9 60 3 M2.3x0.25x 60 P4 P 4 9 60 3
M2.2x0.45x 60 3C2 3c 2 9 60 3 M2.2x0.45x 80 1C8 1C 8 9 80 3 M2.3x0.4 x 60 1C2 1C 2 9 60 3 M2.3x0.25x 60 P5 P 5 9 60 3
M2.2x0.45x 60 3C3 3c 3 9 60 3 M2.2x0.45x 80 1C9 1C 9 9 80 3 M2.3x0.4 x 60 1C3 1C 3 9 60 3 M2.3x0.25x 60 P86 P 6 9 60 3
M2.2x0.45x 60 3C4 3C 4 9 60 3 M2.2x0.45x 80 B B 1 9 80 3 M2.3x0.4 x 60 1C4 1C 4 9 60 3 M2.3x0.25X 60 P7 P 7 9 60 3
M2.2x0.45x 60 3C5 3C 5 9 60 3 M2.2x0.45x 80 B2 B 2 9 80 3 M2.3x0.4 X 60 1C5 1C 5 9 60 3 M2.3X0.25xX 60 P8 P 8 9 60 3
M2.2x0.45x 60 3C6 3C 6 9 60 3 M2.2x0.45x 80 B3 B 3 9 80 3 M2.3x0.4 x 60 1C6 1C 6 9 60 3 M2.3x0.25x 60 P9 P 9 9 60 3
M2.2x0.45x 60 3C7 3C 7 9 60 3 M2.2x0.45x 80 B4 B 4 9 80 3 M2.3x0.4 x 60 1C7 1C 7 9 60 3 M2.3x0.4 x 80 1C1 1C 1 9 80 3
M2.2x0.45x 60 3C8 3C 8 9 60 3 M2.2x0.45x 80 BS5 B 5 9 80 3 M2.3x0.4 x 60 1C8 1c 8 9 60 3 M2.3x0.4 X 80 1C2 1C 2 9 80 3
M2.2x0.45x 60 3C9 3C 9 9 60 3 M2.2x0.45x 80 B6 B 6 9 80 3 M2.3x0.4 x 60 1C9 1C 9 9 60 3 M2.3x0.4 x 80 1C3 1C 3 9 80 3
M2.2x0.45x 60 P1 P 1 9 60 3 M2.2x0.45x 80 B7 B 7 9 80 3 M2.3x0.4 x 60 BI B 1 9 60 3 M2.3x0.4 x 80 1C4 1C 4 9 80 3
M2.2x0.45x 60 P2 P 2 9 60 3 M2.2x0.45x 80 B8 B 8 9 80 3 M2.3x0.4 x 60 B2 B 2 9 60 3 M2.3x0.4 x 80 1C5 ic 5 9 80 3
M2.2x0.45x 60 P3 P 3 9 60 3 M2.2x0.45x 80 B9 B 9 9 80 3 M2.3x0.4 x 60 B3 B 3 9 60 3 M2.3x0.4 x 80 1C6 1C 6 9 80 3
M2.2x0.45x 60 P4 P 4 9 60 3 M2.2x0.45x 80 3C1 3c 1 9 80 3 M2.3x0.4 x 60 B4 B 4 9 60 3 M2.3x0.4 x 80 1C7 1C 7 9 80 3
M2.2x0.45x 60 P5 P 5 9 60 3 M2.2x0.45x 80 3C2 3c 2 9 80 3 M2.3x0.4 x 60 B5 B 5 9 60 3 M2.3x0.4 X 80 1C8 ic 8 9 80 3
M2.2x0.45x 60 P6 P 6 9 60 3 M2.2x0.45x 80 3C3 3C 3 9 80 3 M2.3x0.4 x 60 B6 B 6 9 60 3 M2.3x0.4 x 80 1C9 1C 9 9 80 3
M2.2x0.45x 60 P7 P 7 9 60 3 M2.2x0.45x 80 3C4 3C 4 9 80 3 M2.3x0.4 x 60 B7 B 7 9 60 3 M2.3x0.4 x 80 BI B 1 9 80 3
M2.2x0.45x 60 P8 P 8 9 60 3 M2.2x0.45x 80 3C5 3C 5 9 80 3 M2.3x0.4 x 60 B8 B 8 9 60 3 M2.3x0.4 x 80 B2 B 2 9 80 3
M2.2x0.45x 60 P9 P 9 9 60 3 M2.2x0.45x 80 3C6 3C 6 9 80 3 M2.3x0.4 x 60 B9 B 9 9 60 3 M2.3x0.4 x 80 B3 B 3 9 80 3




ITY 0L wbh-C i1 TAFLET-C ITY0Lwbh-C i1 TAFLET-C

#ME&E HSSE FEWE:C #ME:HSSE FEWIE:C

Tap material Surface treatment Tap material Surface treatment

Iy FOBEBESOEHEE

.
IT-TF-C OYY BfELS 7
50
1c | 1w B o : : ‘ : : : ‘ :
8 E& B 21 (um) eal- U  EvF 2 BIBE| BT BE AR 2R R U  EvF 2R BIBE| BT BE AR 2R W ga
I 3C 3w . M2.5x0.35x 60 3C7 3C 7 10 60 3 M2.5x0.35x 80 3C1 3C 1 10 80 3 3
s(j:‘ P i 25 M2.5x0.35x 60 3C8 3C 8 10 60 3 M2.5x0.35x 80 3C2 3C 2 10 380 3 lj:.s
% % . M2.5x0.35x 60 3C9 3C 9 10 60 3 M2.5x0.35x 80 3C3 3C 3 10 80 3 9%
; Y i M2.5x0.35X 60 P1 P 1 10 60 3 M2.5x0.35X 80 3C4 3C 4 10 80 3 o ;
o | , o | y M2.5x0.35x 60 P2 P 2 10 60 3 M2.5x0.35x 80 3C5 3C 5 10 80 3
Bz U  EvF 2 BSBE| BT B AR 2R WE U  EvF 2 BOBE| BfY B AR 2R R e T o B 3 0 0 3 et s e 3c 6 0 80 3 28
5% M2.3x0.4 x 80 B4 B 4 9 80 3 M2.5x0.45x 60 1C1 1C 1 10 60 3 M2.5x0.35xX 60 P4 P 4 10 60 3 M2.5x0.35x 80 3C7 3C 7 10 80 3 i
= E M2.3x0.4 x 80 BS5 B 5 9 80 3 M2.5x0.45x 60 1C2 1C 2 10 60 3 M2.5x0.35x 60 PS5 P 5 10 60 3 M2.5x0.35x 80 3C8 3C 8 10 80 3 B >
Y M2.3x0.4 x 80 B6 B 6 9 80 3 M2.5x0.45x 60 1C3 1C 3 10 60 3 M2.5x0.35xX 60 P86 P 6 10 60 3 M2.5x0.35x 80 3C9 3C 9 10 80 3 o=
4k M2.3x0.4 x 80 B7 B 7 9 80 3 M2.5x0.45x 60 1C4 1C 4 10 60 3 M2.5x0.35x 60 P7 P 7 10 60 3 M2.5x0.35x 80 P1 P 1 10 80 2 s
M2.3x0.4 x 80 B8 B 8 9 80 3 M2.5x0.45x 60 1C5 1C 5 10 60 3 M2.5x0.35x 60 P8 P 8 10 60 3 M2.5x0.35x 80 P2 P 2 10 80 g
og M2.3x0.4 x 80 B9 B 9 9 80 3 M2.5x0.45x 60 1C6 1C 6 10 60 3 M2.5x0.35x 60 P9 P 9 10 60 3 M2.5x0.35x 80 P3 P 3 10 80 3 = f%
[S] M2.3x0.4 x 80 3C1 3C 1 9 80 3 M2.5x0.45x 60 1C7 1C 7 10 60 3 M2.5x0.45x 80 1C1 1C 1 10 80 3 M2.5x0.35x 80 P4 P 4 10 80 3 [S;
@Fﬂ M2.3x0.4 x 80 3C2 3C 2 9 80 3 M2.5x0.45x 60 1C8 1C 8 10 60 3 M2.5x0.45x 80 1C2 1C 2 10 80 3 M2.5x0.35x 80 P5 P 5 10 80 3 Fﬂ@
EE M2.3x0.4 x 80 3C3 3C 3 9 80 3 M2.5x0.45x 60 1C9 1C 9 10 60 3 M2.5x0.45x 80 1C3 1C 3 10 80 3 M2.5x0.35x 80 P& P 6 10 80 3 Eg
21t M2.3x0.4 x 80 3C4 3C 4 9 80 3 M2.5x0.45x 60 BI1 B 1 10 60 3 M2.5x0.45x 80 1C4 1C 4 10 80 3 M2.5x0.35x 80 P7 P 7 10 80 g fFe
S M2.3x0.4 x 80 3C5 3C 5 9 80 3 M2.5x0.45x 60 B2 B 2 10 60 3 M2.5x0.45x 80 1C5 1C 5 10 80 3 M2.5x0.35x 80 P8 P 8 10 80 g B
gﬁ M2.3x0.4 x 80 3C6 3C 6 9 80 3 M2.5x0.45x 60 B3 B 3 10 60 3 M2.5x0.45x 80 1C6 1C 6 10 80 3 M2.5x0.35x 80 P9 P 9 10 80 3 ﬁg
= M2.3x0.4 x 80 3C7 3C 7 9 80 3 M2.5x0.45x 60 B4 B 4 10 60 3 M2.5x0.45x 80 1C7 1C 7 10 80 3 M2.6x0.45X 60 1C1 1C 1 10 60 3 =1
= M2.3x0.4 x 80 3C8 3C 8 9 80 3 M2.5x0.45x 60 BS5 B 5 10 60 3 M2.5x0.45x 80 1C8 1C 8 10 80 3 M2.6x0.45x 60 1C2 1C 2 10 60 3 =
E‘ M2.3x0.4 x 80 3C9 3C 9 9 80 3 M2.5x0.45x 60 B6 B 6 10 60 3 M2.5x0.45x 80 1C9 1C 9 10 80 3 M2.6x0.45x 60 1C3 1C 3 10 60 3 =
S M2.3x0.4 x 80 PI1 P 1 9 80 3 M2.5x0.45x 60 B7 B 7 10 60 3 M2.5x0.45x 80 BI1 B 1 10 80 3 M2.6x0.45x 60 1C4 1C 4 10 60 g S
M2.3x0.4 x 80 P2 P 2 9 80 3 M2.5x0.45x 60 B8 B 8 10 60 3 M2.5x0.45x 80 B2 B 2 10 80 3 M2.6x0.45x 60 1C5 1C 5 10 60 3
| = M2.3x0.4 x 80 P3 P 3 9 80 3 M2.5x0.45x 60 B9 B 9 10 60 3 M2.5x0.45x 80 B3 B 3 10 80 3 M2.6x0.45x 60 1C6 1C 6 10 60 3 el
T% M2.3x0.4 x 80 P4 P 4 9 80 3 M2.5x0.45x 60 3C1 3C 1 10 60 3 M2.5x0.45x 80 B4 B 4 10 80 3 M2.6x0.45x 60 1C7 1C 7 10 60 3 _%T
A= M2.3x0.4 x 80 P5 P 5 9 80 3 M2.5x0.45x 60 3C2 3c 2 10 60 3 M2.5x0.45x 80 BS B 5 10 80 3 M2.6x0.45x 60 1C8 1C 8 10 60 3 nA
73 M2.3x0.4 x 80 P6 P 6 9 80 3 M2.5x0.45x 60 3C3 3C 3 10 60 3 M2.5x0.45x 80 B6 B 6 10 80 3 M2.6x0.45x 60 1C9 1C 9 10 60 3 a7
L M2.3x0.4 x 80 P7 P 7 9 80 3 M2.5x0.45x 60 3C4 3C 4 10 60 3 M2.5x0.45x 80 B7 B 7 10 80 3 M2.6x0.45X 60 B1 B 1 10 60 3 L
v M2.3x0.4 x 80 P8 P 8 9 80 3 M2.5x0.45x 60 3C5 3C 5 10 60 3 M2.5x0.45x 80 BS B 8 10 80 3 M2.6x0.45x 60 B2 B 2 10 60 3 P
~ M2.3x0.4 x 80 P9 P 9 9 80 3 M2.5x0.45x 60 3C6 3C 6 10 60 3 M2.5x0.45x 80 B9 B 9 10 80 3 M2.6x0.45x 60 B3 B 3 10 60 3 ~
CI: M2.3x0.25x 80 1C1 1C 1 9 80 3 M2.5x0.45x 60 3C7 3c 7 10 60 3 M2.5x0.45X 80 3C1 3C 1 10 80 3 M2.6x0.45x 60 B4 B 4 10 60 3 é
M2.3x0.25x 80 1C2 1C 2 9 80 3 M2.5x0.45x 60 3C8 3c 8 10 60 3 M2.5x0.45x 80 3C2 3C 2 10 80 3 M2.6x0.45x 60 BS B 5 10 60 3
M2.3x0.25x 80 1C3 1C 3 9 80 3 M2.5x0.45x 60 3C9 3C 9 10 60 3 M2.5x0.45x 80 3C3 3C 3 10 80 3 M2.6x0.45X 60 B6 B 6 10 60 3
M2.3x0.25x 80 1C4 1C 4 9 80 3 M2.5x0.45x 60 P1 P 1 10 60 3 M2.5x0.45x 80 3C4 3C 4 10 80 3 M2.6x0.45x 60 B7 B 7 10 60 3
M2.3x0.25x 80 1C5 1C 5 9 80 3 M2.5x0.45x 60 P2 P 2 10 60 3 M2.5x0.45x 80 3C5 3C 5 10 80 3 M2.6x0.45x 60 B8 B 8 10 60 3
M2.3x0.25x 80 1C6 1C 6 9 80 3 M2.5x0.45x 60 P3 P 3 10 60 3 M2.5x0.45x 80 3C6 3C 6 10 80 3 M2.6x0.45x 60 B9 B 9 10 60 3
M2.3x0.25x 80 1C7 1C 7 9 80 3 M2.5x0.45x 60 P4 P 4 10 60 3 M2.5x0.45x 80 3C7 3C 7 10 80 3 M2.6x0.45x 60 3C1 3C 1 10 60 3
M2.3x0.25x 80 1C8 1C 8 9 80 3 M2.5x0.45x 60 P5 P 5 10 60 3 M2.5x0.45x 80 3C8 3C 8 10 80 3 M2.6x0.45x 60 3C2 3C 2 10 60 3
M2.3x0.25x 80 1C9 1C 9 9 80 3 M2.5x0.45x 60 P6 P 6 10 60 3 M2.5x0.45x 80 3C9 3C 9 10 80 3 M2.6x0.45x 60 3C3 3C 3 10 60 3
M2.3x0.25x 80 Bl B 1 9 80 3 M2.5x0.45x 60 P7 P 7 10 60 3 M2.5x0.45x 80 P1 P 1 10 80 3 M2.6x0.45x 60 3C4 3C 4 10 60 3
M2.3x0.25x 80 B2 B 2 9 80 3 M2.5x0.45x 60 P8 P 8 10 60 3 M2.5x0.45x 80 P2 P 2 10 80 3 M2.6x0.45x 60 3C5 3C 5 10 60 3
M2.3x0.25x 80 B3 B 3 9 80 3 M2.5x0.45x 60 P9 P 9 10 60 3 M2.5x0.45x 80 P3 P 3 10 80 3 M2.6x0.45x 60 3C6 3C 6 10 60 3
M2.3x0.25x 80 B4 B 4 9 80 3 M2.5x0.35x 60 1C1 1C 1 10 60 3 M2.5x0.45x 80 P4 P 4 10 80 3 M2.6x0.45x 60 3C7 3C 7 10 60 3
M2.3x0.25x 80 B5 B 5 9 80 3 M2.5x0.35x 60 1C2 1C 2 10 60 3 M2.5x0.45x 80 P5 P 5 10 80 3 M2.6x0.45x 60 3C8 3C 8 10 60 3
M2.3x0.25x 80 B6 B 6 9 80 3 M2.5x0.35x 60 1C3 1C 3 10 60 3 M2.5x0.45x 80 P& P 6 10 80 3 M2.6x0.45x 60 3C9 3C 9 10 60 3
M2.3x0.25x 80 B7 B 7 9 80 3 M2.5x0.35x 60 1C4 1C 4 10 60 3 M2.5x0.45x 80 P7 P 7 10 80 3 M2.6X0.45x 60 P1 P 1 10 60 3
M2.3x0.25x 80 B8 B 8 9 80 3 M2.5x0.35x 60 1C5 1C 5 10 60 3 M2.5x0.45x 80 P8 P 8 10 80 3 M2.6x0.45x 60 P2 P 2 10 60 3
M2.3x0.25x 80 B9 B 9 9 80 3 M2.5x0.35x 60 1C6 1C 6 10 60 3 M2.5x0.45x 80 P9 P 9 10 80 3 M2.6x0.45x 60 P3 P 3 10 60 3
M2.3x0.25x 80 3C1 3C 1 9 80 3 M2.5x0.35x 60 1C7 1C 7 10 60 3 M2.5x0.35x 80 1C1 1C 1 10 80 3 M2.6x0.45x 60 P4 P 4 10 60 3
M2.3x0.25x 80 3C2 3C 2 9 80 3 M2.5x0.35x 60 1C8 1C 8 10 60 3 M2.5x0.35x 80 1C2 1C 2 10 80 3 M2.6x0.45x 60 PS5 P 5 10 60 3
M2.3x0.25x 80 3C3 3C 3 9 80 3 M2.5x0.35x 60 1C9 1C 9 10 60 3 M2.5x0.35x 80 1C3 1C 3 10 80 3 M2.6x0.45xX 60 P86 P 6 10 60 3
M2.3x0.25x 80 3C4 3C 4 9 80 3 M2.5x0.35x 60 B B 1 10 60 3 M2.5x0.35x 80 1C4 1C 4 10 80 3 M2.6x0.45x 60 P7 P 7 10 60 3
M2.3x0.25x 80 3C5 3C 5 9 80 3 M2.5x0.35x 60 B2 B 2 10 60 3 M2.5x0.35x 80 1C5 1C 5 10 80 3 M2.6X0.45X 60 P8 P 8 10 60 3
M2.3x0.25x 80 3C6 3C 6 9 80 3 M2.5x0.35x 60 B3 B 3 10 60 3 M2.5x0.35x 80 1C6 1C 6 10 80 3 M2.6x0.45x 60 P9 P 9 10 60 3
M2.3x0.25x 80 3C7 3C 7 9 80 3 M2.5x0.35x 60 B4 B 4 10 60 3 M2.5x0.35x 80 1C7 1C 7 10 80 3 M2.6x0.35x 60 1C1 1C 1 10 60 3
M2.3x0.25x 80 3C8 3C 8 9 80 3 M2.5x0.35x 60 B5 B 5 10 60 3 M2.5x0.35x 80 1C8 1C 8 10 80 3 M2.6x0.35x 60 1C2 1C 2 10 60 3
M2.3x0.25x 80 3C9 3C 9 9 80 3 M2.5x0.35x 60 B6 B 6 10 60 3 M2.5x0.35x 80 1C9 1C 9 10 80 3 M2.6x0.35x 60 1C3 1C 3 10 60 3
M2.3x0.25x 80 P1 P 1 9 80 3 M2.5x0.35x 60 B7 B 7 10 60 3 M2.5x0.35x 80 BI1 B 1 10 80 3 M2.6x0.35x 60 1C4 1C 4 10 60 3
M2.3x0.25x 80 P2 P 2 9 80 3 M2.5x0.35x 60 B8 B 8 10 60 3 M2.5x0.35x 80 B2 B 2 10 80 3 M2.6x0.35x 60 1C5 1C 5 10 60 3
M2.3x0.25x 80 P3 P 3 9 80 3 M2.5x0.35x 60 B9 B 9 10 60 3 M2.5x0.35x 80 B3 B 3 10 80 3 M2.6X0.35x 60 1C6 1C 6 10 60 3
M2.3x0.25x 80 P4 P 4 9 80 3 M2.5x0.35x 60 3C1 3c 1 10 60 3 M2.5x0.35x 80 B4 B 4 10 80 3 M2.6x0.35x 60 1C7 1C 7 10 60 3
M2.3x0.25x 80 P5 P 5 9 80 3 M2.5x0.35x 60 3C2 3c 2 10 60 3 M2.5x0.35x 80 B5 B 5 10 80 3 M2.6x0.35x 60 1C8 ic 8 10 60 3
M2.3x0.25x 80 P6 P 6 9 80 3 M2.5x0.35x 60 3C3 3C 3 10 60 3 M2.5x0.35x 80 B6 B 6 10 80 3 M2.6x0.35x 60 1C9 1C 9 10 60 3
M2.3x0.25x 80 P7 P 7 9 80 3 M2.5x0.35x 60 3C4 3C 4 10 60 3 M2.5x0.35x 80 B7 B 7 10 80 3 M2.6x0.35x 60 B1 B 1 10 60 3
M2.3x0.25x 80 P8 P 8 9 80 3 M2.5x0.35x 60 3C5 3C 5 10 60 3 M2.5x0.35x 80 BS B 8 10 80 3 M2.6x0.35x 60 B2 B 2 10 60 3
M2.3x0.25x 80 P9 P 9 9 80 3 M2.5x0.35x 60 3C6 3C 6 10 60 3 M2.5x0.35x 80 B9 B 9 10 80 3 M2.6x0.35x 60 B3 B 3 10 60 3




ITY 0L wbh-C i1 TAFLET-C ITY0Lwbh-C i1 TAFLET-C

#ME&E HSSE FEWE:C #ME:HSSE FEWIE:C

Tap material Surface treatment Tap material Surface treatment

Iy FOBEBESOEHEE

s
IT-TF-C OYY BfELS 7
50
1C 11l 2 3:
TEY B 2 B HUO EvF 2F BMEE| BN | BE | IE | 2F | @R HUO EvF 2F BREE| BN | BE | IE | 2E | @R %I
I 3C 3w . M3 x0.5 x 80 3C8 3C 8 10 80 3 M3 x0.5 x100 3C2 3C 2 10 | 100 3 I
glf P | 4u % M3 x0.5 x 80 3C9 | 3C 9 | 10 | 80| 3 M3 x0.5 x100 3C3 | 3C 3 70 100 | 3 U:S
Z % e M3 x0.5 x 80 3c10| 3C | 10 | 10 | 80 | 3 M3 x0.5 x100 3C4 | 3C 4 | 10 | 100 | 3 QGZ)
4% M3 x0.5 x 80 P2 P 2 | 10 | 80| 3 M3 x0.5 x100 3C5 | 3C 5 | 10 | 100 | 3 E
32 O EyF 2E SREE| BN | BE | IE | 28 | WE O EyF 2E SREE| BN | BE | IE | 28 | WE mg :g:: . gg :i E Z 18 gg g mg :g:: ::gg ggs gg 3 18 188 g 23
37 M2.6x0.35x 60 B4 B 2 0 | 60 | 3 M2.6x0.35x 80 1C1 | 1C 1 0 | 80 | 3 M3 x0.5 x 80 P5 P 5 | 10 | 80| 3 M3 x0.5 x100 3C8 | 3C 8 | 10 | 100 | 3 5
> 7 M2.6x0.35x 60 B5 B 5 0 | 60 | 3 M2.6x0.35x 80 1C2 | 1C 2 | 10 | 80 | 3 M3 x0.5 x 80 P6 P 6 | 10 | 80| 3 M3 x0.5 x100 3c9 | 3C 9 | 10 | 100 | 3 e
oY M2.6x0.35x 60 BB B 6 10 | 60 | 3 M2.6x0.35x 80 1C3 | 1C 3 | 10 | e0 | 3 M3 x0.5 x 80 P7 P 7 | 10 | 80| 3 M3 x0.5 x100 3ci0| 3C | 10 | 10 | 100 | 3 =
Jt M2.6x0.35x 60 B7 B 7 0 | 60 | 3 M2.6x0.35x 80 1C4 | 1C 4 | 10 | 80 | 3 M3 x0.5 x 80 P8 P 8 | 10 | 80| 5 M3 x0.5 x100 P2 P 2 | 10 | 100 | 3 k4
M2.6x0.35x 60 B8 B 8 0 | 60 | 3 M2.6x0.35x 80 1C5 | 1C 5 | 10 | 80 | 3 M3 x0.5 x 80 P9 P o | 10 | 80| 3 M3 x0.5 x100 P3 P 3 | 10 | 100 | 3
s M2.6x0.35x 60 B9 B 9 0 | 60 | 3 M2.6x0.35x 80 1C6 | 1C 6 | 10 | s0 | 3 M3 x0.5 x 80 P10 | P | 10 | 10 | 80 | 3 M3 x0.5 x100 P4 P 4 | 10 | 100 | 3 B2
= M2.6x0.35x 60 3C1 | 3C 1 0 | 60 | 3 M2.6x0.35x 80 1C7 | 1C 7 | 10 | 80 | 3 M3 x0.35x 80 1c2 | 1C 2 | 10 | 80| 3 M3 x0.5 x100 P5 P 5 | 10 | 100 | 3 =
EF? M2.6x0.35x 60 3C2 | 3C | 2 0 | 60 | 3 M2.6x0.35x 80 1C8 | 1C 8 | 10 | 80 | 3 M3 x0.35x 80 1C3 | 1C 3 | 10 | 80| 3 M3 x0.5 x100 P6 P 6 | 10 | 100 | 3 Fﬂ@
=5 M2.6x0.35x 60 3C3 | 3C | 3 10 | 60 | 3 M2.6x0.35x 80 1C9 | 1C 9 | 10 | s0 | 3 M3 x0.35x 80 1C4 | 1C 4 | 10 | 80| 3 M3 x0.5 x100 P7 P 7 | 10 | 100 | 3 Eg
S1E M2.6x0.35x 60 3C4 | 3C | 4 0 | 60 | 3 M2.6x0.35x 80 BI B 1 0 | s0 | 3 M3 x0.35x 80 1C5 | 1C 5 | 10 | 80| 3 M3 x0.5 x100 P8 P 8 | 10 | 100 | 3 o
& & M2.6x0.35x 60 3C5 | 3C | 5 0 | 60 | 3 M2.6x0.35x 80 B2 B 2 | 10 | s0 | 3 M3 x0.35x 80 1C6 | 1C 6 | 10 | 80| 3 M3 x0.5 x100 P9 P 9 | 10 | 100 | 3 B
S [Mm2ex0ssx 60 ace | aC | 6 0 | 60 | 3 M2.6x0.35x 80 B3 B 3 | 10 | s0 | 3 M3 x0.35x 80 1C7 | 1C 7 | 10 | 80| 3 M3 x0.5 x100 P10 | P | 10 | 10 | 100 | 3 %3
o M2.6x0.35x 60 3C7 | 3C | 7 0 | e0 | 3 M2.6x0.35x 80 B4 B 4 | 10 | 80 | 3 M3 x0.35x 80 1C8 | 1C 8 | 10 | 80| 3 M3 x0.35x100 1C2 | 1C 2 | 10 | 100 | 3 =]
3 M2.6x0.35x 60 3C8 | 3C | 8 0 | 60 | 3 M2.6x0.35x 80 B5 B 5 | 10 | 80 | 3 M3 x0.35x 80 1C9 | 1C o | 10 | 80| 3 M3 x0.35x100 1C3 | 1C 3 | 10 | 100 | 3 3
z M2.6x0.35x 60 3C9 | 3C | O 0 | 60 | 3 M2.6x0.35x 80 B6 B 6 | 10 | s0 | 3 M3 x0.35x 80 1c10| 1C | 10 | 10 | 80 | 3 M3 x0.35x100 1C4 | 1C 4 | 10 | 100 | 3 2
S M2.6x0.35x 60 P1 P 1 0 | 60 | 3 M2.6x0.35x 80 B7 B 7 | 10 | 80 | 3 M3 x0.35x 80 B2 B 2 | 10 | 80| 3 M3 x0.35x100 1C5 | 1C 5 | 10 | 100 | 3 =)
M2.6x0.35x 60 P2 P 2 0 | 60 | 3 M2.6x0.35x 80 B8 B 8 | 10 | 80 | 3 M3 x0.35x 80 B3 B 3 | 10 | 80| 3 M3 x0.35x100 1C6 | 1C 6 | 10 | 100 | 3
| = M2.6x0.35x 60 P3 P 3 0 | 60 | 3 M2.6x0.35x 80 B9 B 9 | 10 | s0 | 3 M3 x0.35x 80 B4 B 4 | 10 | 80| 3 M3 x0.35x100 1C7 | 1C 7 | 10 | 100 | 3 =N
T3 M2.6x0.35x 60 P4 P a 0 | 60 | 3 M2.6x0.35x 80 3C1 | 3C 1 0 | 80 | 3 M3 x0.35x 80 B5 B 5 | 10 | 80| 3 M3 x0.35x100 1C8 | 1C 8 | 10 | 100 | 3 2T
A= M2.6x0.35X 60 P5 P 5 0 | 60 | 3 M2.6x0.35x 80 3C2 | 3C 2 | 10 | s0 | 3 M3 x0.35x 80 B6 B 6 | 10 | 80| 3 M3 x0.35x100 1C9 | 1C 9 | 10 | 100 | 3 4
74 M2.6x0.35x 60 P6 P 6 0 | 60 | 3 M2.6x0.35x 80 3C3 | 3C 3 | 10 | s0 | 3 M3 x0.35x 80 B7 B 7 | 10 | 80 | 3 M3 x0.35x100 1c10| 1C | 10 | 10 | 100 | 3 27
L M2.6x0.35x 60 P7 P 7 10 | 60 | 3 M2.6x0.35x 80 3C4 | 3C 4 | 10 | 80 | 3 M3 x0.35x 80 B8 B 8 | 10 | 80| 3 M3 x0.35x100 B2 B 2 | 10 | 100 | 3 L
W M2.6x0.35x 60 P8 P 8 0 | 60 | 3 M2.6x0.35x 80 3C5 | 3C 5 | 10 | 80 | 3 M3 x0.35x 80 B9 B o | 10 | 80| 3 M3 x0.35x100 B3 B 3 | 10 | 100 | 3 5%
~ M2.6x0.35x 60 P9 P 9 0 | 60 | 3 M2.6x0.35x 80 3C6 | 3C 6 | 10 | s0 | 3 M3 x0.35x 80 B10 | B | 10 | 10 | 80 | 3 M3 x0.35x100 B4 B 4 | 10 | 100 | 3 ~
('3 M2.6x0.45x 80 1C1 | 1C 1 10 | 80 | 3 M2.6x0.35x 80 3C7 | 3C 7 | 10 | 80 | 3 M3 x0.35x 80 3c2 | 3C 2 | 10 | 80| 3 M3 x0.35x100 B5 B 5 | 10 | 100 | 3 CII
M2.6x0.45x 80 1C2 | 1C | 2 0 | 80 | 3 M2.6x0.35x 80 3C8 | 3C 8 | 10 | 80 | 3 M3 x0.35x 80 3C3 | 3C 3 | 10 | 80| 3 M3 x0.35x100 B6 B 6 | 10 | 100 | 3
M2.6x0.45x 80 1C3 | 1C | 3 0 | 80 | 3 M2.6x0.35x 80 3C9 | 3C o | 10 | s0 | 3 M3 x0.35x 80 3C4 | 3C 4 | 10 | 80| 3 M3 x0.35x100 B7 B 7 | 10 | 100 | 3
M2.6x0.45x 80 1C4 | 1C | 4 0 | s0 | 3 M2.6x0.35x 80 P1 P 1 0 | s0 | 3 M3 x0.35x 80 3C5 | 3C 5 | 10 | 80| 3 M3 x0.35x100 B8 B 8 | 10 | 100 | 3
M2.6x0.45x 80 1C5 | 1C | 5 0 | 80 | 3 M2.6x0.35x 80 P2 P 2 | 10 | 80 | 3 M3 x0.35x 80 3C6 | 3C 6 | 10 | 80| 3 M3 x0.35x100 B9 B 9 | 10 | 100 | 3
M2.6x0.45x 80 1C6 | 1C | 6 0 | s0 | 3 M2.6x0.35x 80 P3 P 3 | 10 | s0 | 3 M3 x0.35x 80 3C7 | 3C 7 | 10 | 80| 3 M3 x0.35x100 B10 | B | 10 | 10 | 100 | 3
M2.6x0.45x 80 1C7 | 1C | 7 0 | 80 | 3 M2.6x0.35x 80 P4 P 4 | 10 | 80 | 3 M3 x0.35x 80 3C8 | 3C 8 | 10 | 80| 3 M3 x0.35x100 3c2 | 3C 2 | 10 | 100 | 3
M2.6x0.45x 80 1C8 | 1C | 8 0 | 80 | 3 M2.6x0.35x 80 P5 P 5 | 10 | 80 | 3 M3 x0.35x 80 3C9 | 3C 9 | 10 | 80| 3 M3 x0.35x100 3C3 | 3C 3 | 10 | 100 | 3
M2.6x0.45x 80 1C9 | 1C | O 0 | 80 | 3 M2.6x0.35x 80 PG P 6 | 10 | 80 | 3 M3 x0.35x 80 3C10| 3C | 10 | 10 | 80 | 3 M3 x0.35x100 3c4 | 3C 4 | 10 | 100 | 3
M2.6x0.45x 80 B1 B 1 10 | s0 | 3 M2.6x0.35x 80 P7 P 7 | 10 | 80 | 3 M3 x0.35x 80 P2 P 2 | 10 | 80| 3 M3 x0.35x100 3C5 | 3C 5 | 10 | 100 | 3
M2.6x0.45x 80 B2 B 2 0 | 80 | 3 M2.6x0.35x 80 P8 P 8 | 10 | 80 | 3 M3 x0.35x 80 P3 P 3 | 10 | 80| 3 M3 x0.35x100 3C6 | 3C 6 | 10 | 100 | 3
M2.6x0.45x 80 B3 B 3 0 | s0 | 3 M2.6x0.35x 80 P9 P o | 10 | s0 | 3 M3 x0.35x 80 P4 P 4 | 10 | 80| 3 M3 x0.35x100 3C7 | 3C 7 | 10 | 100 | 3
M2.6x0.45x 80 B4 B a 10 | 80 | 3 M3 x0.5 x 80 1C2 | 1C 2 | 10 | 80 | 3 M3 x0.35x 80 P5 P 5 | 10 | 80| 3 M3 x0.35x100 3C8 | 3C 8 | 10 | 100 | 3
M2.6x0.45x 80 B5 B 5 0 | 80 | 3 M3 x0.5 x 80 1C3 | 1C 3 | 10 | 80 | 3 M3 x0.35x 80 P6 P 6 | 10 | 80 | 3 M3 x0.35x100 3C9 | 3C 9 | 10 | 100 | 3
M2.6x0.45x 80 BB B 6 0 | 80 | 3 M3 x05 x 80 1C4 | 1C 4 | 10 | 80 | 3 M3 x0.35x 80 P7 P 7 | 10 | 80| 3 M3 x0.35x100 3C10 | 3C | 10 | 10 | 100 | 3
M2.6x0.45x 80 B7 B 7 10 | s0 | 3 M3 x0.5 x 80 1C5 | 1C 5 | 10 | 80 | 3 M3 x0.35x 80 P8 P 8 | 10 | 80| 3 M3 x0.35x100 P2 P 2 | 10 | 100 | 3
M2.6x0.45x 80 B8 B 8 0 | 80 | 3 M3 x0.5 x 80 1C6 | 1C 6 | 10 | 80 | 3 M3 x0.35x 80 P9 P 9 | 10 | 80| 3 M3 x0.35x100 P3 P 3 | 10 | 100 | 3
M2.6x0.45x 80 B9 B 9 0 | s0 | 3 M3 x05 x 80 1C7 | 1C 7 | 10 | 80 | 3 M3 x0.35x 80 P10 | P | 10 | 10 | 80 | 3 M3 x0.35x100 P4 P 4 | 10 | 100 | 3
M2.6x0.45x 80 3C1 | 3C 1 10 | 80 | 3 M3 x0.5 x 80 1C8 | 1C 8 | 10 | 80 | 3 M3 x0.5 x100 1c2 | 1C 2 | 10 | 100 | 3 M3 x0.35x100 P5 P 5 | 10 | 100 | 3
M2.6x0.45x 80 3C2 | 3C | 2 0 | 80 | 3 M3 x0.5 x 80 1C9 | 1C 9 | 10 | 80 | 3 M3 x0.5 x100 1C3 | 1C 3 | 10 | 100 | 3 M3 x0.35x100 P6 P 6 | 10 | 100 | 3
M2.6x0.45x 80 3C3 | 3C | 3 0 | 80 | 3 M3 x05 x 80 1C10| 1C | 10 | 10 | 80 | 3 M3 x0.5 x100 1C4 | 1C 4 | 10 | 100 | 3 M3 x0.35x100 P7 P 7 | 10 | 100 | 3
M2.6x0.45x 80 3C4 | 3C | 4 0 | s0 | 3 M3 x0.5 x 80 B2 B 2 | 10 | s0 | 3 M3 x0.5 x100 1C5 | 1C 5 | 10 | 100 | 3 M3 x0.35x100 P8 P 8 | 10 | 100 | 3
M2.6x0.45x 80 3C5 | 3C | 5 0 | 80 | 3 M3 x0.5 x 80 B3 B 3 | 10 | 80 | 3 M3 x0.5 x100 1C6 | 1C 6 | 10 | 100 | 3 M3 x0.35x100 P9 P 9 | 10 | 100 | 3
M2.6x0.45x 80 3C6 | 3C | 6 0 | s0 | 3 M3 x0.5 x 80 B4 B 4 | 10 | 80 | 3 M3 x0.5 x100 1C7 | 1C 7 | 10 | 100 | 3 M3 x0.35x100 P10 | P | 10 | 10 | 100 | 3
M2.6x0.45x 80 3C7 | 3C | 7 0 | 80 | 3 M3 x0.5 x 80 B5 B 5 | 10 | 80 | 3 M3 x0.5 x100 1C8 | 1C 8 | 10 | 100 | 3 M3 x0.5 x150 1c2 | 1C 2 | 10 | 150 | 3
M2.6x0.45x 80 3C8 | 3C | 8 0 | 80 | 3 M3 x0.5 x 80 BB B 6 | 10 | 80 | 3 M3 x0.5 x100 1C9 | 1C 9 | 10 | 100 | 3 M3 x0.5 x150 1C3 | 1C 3 | 10 | 150 | 3
M2.6x0.45x 80 3C9 | 3C | O 0 | 80 | 3 M3 x0.5 x 80 B7 B 7 | 10 | 80 | 3 M3 x0.5 x100 1C10| 1C | 10 | 10 | 100 | 3 M3 x0.5 x150 1C4 | 1C 4 | 10 | 150 | 3
M2.6x0.45x 80 P1 P 1 0 | 80 | 3 M3 x0.5 x 80 B8 B 8 | 10 | 80 | 3 M3 x0.5 x100 B2 B 2 | 10 | 100 | 3 M3 x0.5 x150 1C5 | 1C 5 | 10 | 150 | 3
M2.6x0.45x 80 P2 P 2 0 | 80 | 3 M3 x0.5 x 80 B9 B 9 | 10 | 80 | 3 M3 x0.5 x100 B3 B 3 | 10 | 100 | 3 M3 x0.5 x150 1C6 | 1C 6 | 10 | 150 | 3
M2.6x0.45x 80 P3 P 3 0 | s0 | 3 M3 x05 x 80 B10 | B | 10 | 10 | 80 | 3 M3 x0.5 x100 B4 B 4 | 10 | 100 | 3 M3 x0.5 x150 1C7 | 1C 7 | 10 | 150 | 3
M2.6x0.45x 80 P4 P a 0 | 80 | 3 M3 x0.5 x 80 3C2 | 3C 2 | 10 | 80 | 3 M3 x0.5 x100 B5 B 5 | 10 | 100 | 3 M3 x0.5 x150 1C8 | 1C 8 | 10 | 150 | 3
M2.6x0.45x 80 P5 P 5 0 | 80 | 3 M3 x0.5 x 80 3C3 | 3C 3 | 10 | s0 | 3 M3 x0.5 x100 B6 B 6 | 10 | 100 | 3 M3 x0.5 x150 1C9 | 1C 9 | 10 | 150 | 3
M2.6x0.45x 80 PG P 6 0 | 80 | 3 M3 x0.5 x 80 3C4 | 3C 4 | 10 | 80 | 3 M3 x0.5 x100 B7 B 7 | 10 | 100 | 3 M3 x0.5 x150 1c10| 1C | 10 | 10 | 150 | 3
M2.6x0.45x 80 P7 P 7 0 | s0 | 3 M3 x0.5 x 80 3C5 | 3C 5 | 10 | 80 | 3 M3 x0.5 x100 BS B 8 | 10 | 100 | 3 M3 x0.5 x150 B2 B 2 | 10 | 150 | 3
M2.6x0.45x 80 P8 P 8 0 | 80 | 3 M3 x0.5 x 80 3C6 | 3C 6 | 10 | 80 | 3 M3 x0.5 x100 B9 B 9 | 10 | 100 | 3 M3 x0.5 x150 B3 B 3 | 10 | 150 | 3
M2.6x0.45x 80 P9 P 9 0 | 80 | 3 M3 x0.5 x 80 3C7 | 3C 7 | 10 | 80 | 3 M3 x0.5 x100 B10 | B | 10 | 10 | 100 | 3 M3 x0.5 x150 B4 B 4 | 10 | 150 | 3




ITY 0L wbh-C i1 TAFLET-C ITY0Lwbh-C i1 TAFLET-C

#ME:HSSE FREUUE:C #ME:HSSE RHEYUE:C

Tap material Surface treatment Tap material Surface treatment

Iy FOBEBESOEHEE

o p
IT-TF-C OV — o
0
1c | 1 B 8-
TEY B | 2m B WO EvF 2R BOBE| BY | BE | IR | 2R | W@ WO EvF SR BROEE| BY | BE | IR | 2R | @& 5% T
oy J: 3C 3 2; M3 x0.5 x100 3C4 3C 4 10 100 4 M3 Xx0.35x150 B4 B 4 10 150 4 E %
5 ljl‘ P 4l 25 M3 x0.5 x100 3C5 3C 5 10 100 4 M3 x0.35x150 BS5 B 5 10 150 4 lj:‘ ;
% 9 gﬁﬁ%;" M3 x0.5 x100 3C6 3C 6 10 100 4 M3 x0.35%x150 B6 B 6 10 150 4 9 GZ)
]_>| v M3 x0.5 x100 3C7 3C 7 10 100 4 M3 Xx0.35x150 B7 B 7 10 150 4 ‘y;
. , . } . . . . } . M3 x0.5 x100 3C8 3C 8 10 100 4 M3 x0.35x150 B8 B 8 10 150 4
! Z FUO  EyF 2R BEE| BN | BE | IR | 2R | A& FUO EyF 2R BAE| BN | BE | IR | 2R | AE M3 x0B5 x100 308 | 3 | o o o0 T 2 M3 x0.35x150 B9 5 S o Tie0 T 2 2 !
3 4 M3 x0.5 x150 B5 B 5 10 150 3 M3 Xx0.5 x 80 1C5 1C 5 10 80 4 M3 x0.5 x100 P4 P 4 10 100 4 M3 Xx0.35x150 3C4 3C 4 10 150 4 4 3
:% B M3 Xx0.5 x150 B6 B 6 10 150 3 M3 Xx0.5 x 80 1C6 1C 6 10 80 4 M3 x0.5 x100 PS5 P 5 10 100 4 M3 x0.35x150 3C5 3C 5 10 150 4 ij _IZ?I
LY M3 x0.5 x150 B7 B 7 10 150 3 M3 x0.5 x 80 1C7 1C 7 10 80 4 M3 x0.5 X100 P6 P 6 10 100 4 M3 x0.35x150 3C6 3C 6 10 150 4 v E
S \t M3 x0.5 x150 B8 B 8 10 150 3 M3 Xx0.5 x 80 BS5 B 5 10 80 4 M3 x0.5 x100 P7 P 7 10 100 4 M3 x0.35x150 3C7 3C 7 10 150 4 t d
M3 Xx0.5 x150 BS B 9 10 150 3 M3 Xx0.5 x 80 B6 B 6 10 80 4 M3 x0.5 x100 P8 P 8 10 100 4 M3 x0.35x150 3C8 3C 8 10 150 4
5’% M3 x0.5 x150 B10 B 10 10 150 3 M3 x0.5 x 80 B7 B 7 10 80 4 M3 x0.5 X100 P9 P 9 10 100 4 M3 x0.35%x150 3CS9 3C 9 10 150 4 gc_,%
=2 M3 x0.5 x150 3C2 3C 2 10 150 3 M3 Xx0.5 x 80 PS5 P 5 10 80 4 M3 x0.35x100 1C4 1C 4 10 100 4 M3 Xx0.35x150 P4 P 4 10 150 4 =
EF? M3 Xx0.5 x150 3C3 3C 3 10 150 3 M3 Xx0.5 x 80 P6 P 6 10 80 4 M3 x0.35x100 1C5 1C 5 10 100 4 M3 x0.35x150 PS5 P 5 10 150 4 Fﬂ@
EE M3 x0.5 x150 3C4 3C 4 10 150 3 M3 x0.5 x 80 P7 P 7 10 80 4 M3 x0.35%x100 1C6 1C 6 10 100 4 M3 x0.35%x150 P6 P 6 10 150 4 EE
%E M3 x0.5 x150 3C5 3C 5 10 150 3 M3 x0.35x 80 1C5 1C 5 10 80 4 M3 x0.35x100 1C7 1C 7 10 100 4 M3 x0.35x150 P7 P 7 10 150 4 T:E%
EE M3 Xx0.5 x150 3C6 3C 6 10 150 3 M3 Xx0.35x 80 1C6 1C 6 10 80 4 M3 x0.35x100 1C8 1C 8 10 100 4 M3 x0.35x150 P8 P 8 10 150 4 F:?E
gﬁ M3 x0.5 x150 3C7 3C 7 10 150 3 M3 x0.35x 80 1C7 1C 7 10 80 4 M3 Xx0.35%x100 1CS 1C 9 10 100 4 M3 x0.35x150 P9 P 9 10 150 4 ﬁg
% M3 x0.5 x150 3C8 3C 8 10 150 3 M3 x0.35x 80 B5 B 5 10 80 4 M3 x0.35x100 B4 B 4 10 100 4 UQ)
;__U' M3 Xx0.5 x150 3C9 3C 9 10 150 3 M3 Xx0.35x 80 B6 B 6 10 80 4 M3 x0.35x100 BS5 B 5 10 100 4 ;__u'
g M3 Xx0.5 x150 3C10 3C 10 10 150 3 M3 x0.35x 80 B7 B 7 10 80 4 M3 x0.35%x100 B6 B 6 10 100 4 g
= M3 x0.5 x150 P2 P 2 10 150 3 M3 x0.35x 80 P5 B 5 10 80 4 M3 x0.35x100 B7 B 7 10 100 4 =
M3 x0.5 x150 P3 P 3 10 150 3 M3 x0.35x 80 P6 P 6 10 80 4 M3 x0.35x100 B8 B 8 10 100 4
| i M3 Xx0.5 x150 P4 P 4 10 150 3 M3 x0.35x 80 P7 B 7 10 80 4 M3 x0.35%x100 B9 B 9 10 100 4 = |
T %’i, M3 x0.5 x150 P5 P 5 10 150 3 M3 Xx0.5 x100 1C5 1C 5 10 100 4 M3 x0.35x100 3C4 3C 4 10 100 4 % T
9 M M3 Xx0.5 x150 P6 P 6 10 150 3 M3 Xx0.5 X100 1C6 1C 6 10 100 4 M3 x0.35x100 3C5 3C 5 10 100 4 Eg
V) ; M3 x0.5 x150 P7 P 7 10 150 3 M3 x0.5 x100 1C7 1C 7 10 100 4 M3 x0.35%x100 3C6 3C 6 10 100 4 ;7
|J M3 x0.5 x150 P8 P 8 10 150 3 M3 Xx0.5 x100 BS5 B 5 10 100 4 M3 x0.35x100 3C7 3C 7 10 100 4 l/
v M3 x0.5 x150 PS P 9 10 150 3 M3 Xx0.5 x100 B6 B 6 10 100 4 M3 x0.35x100 3C8 3C 8 10 100 4 v
I\ M3 x0.5 x150 P10 B 10 10 150 3 M3 Xx0.5 x100 B7 B 7 10 100 4 M3 Xx0.35%x100 3CS 3C 9 10 100 4 I\
é M3 x0.35x150 1C2 1C 2 10 150 3 M3 Xx0.5 x100 PS5 P 5 10 100 4 M3 x0.35x100 P4 P 4 10 100 4 'C
M3 x0.35x150 1C3 1C 3 10 150 3 M3 x0.5 x100 P6 P 6 10 100 4 M3 x0.35x100 PS5 P 5 10 100 4
M3 x0.35x150 1C4 1C 4 10 150 3 M3 Xx0.5 x100 P7 P 7 10 100 4 M3 x0.35%x100 P6 P 6 10 100 4
M3 x0.35x150 1C5 1C 5 10 150 3 M3 x0.35x100 1C5 1C 5 10 100 4 M3 x0.35x100 P7 P 7 10 100 4
M3 x0.35x150 1C6 1C 6 10 150 3 M3 x0.35x100 1C6 1C 6 10 100 4 M3 x0.35x100 P8 P 8 10 100 4
M3 x0.35x150 1C7 1C 7 10 150 3 M3 x0.35x100 1C7 1C 7 10 100 4 M3 x0.35%x100 P9 P 9 10 100 4
M3 x0.35x150 1C8 1C 8 10 150 3 M3 x0.35%x100 B5 B 5 10 100 4 M3 x0.5 x150 1C4 1C 4 10 150 4
M3 x0.35x150 1C9 1C 9 10 150 3 M3 x0.35x100 B6 B 6 10 100 4 M3 x0.5 x150 1C5 1C 5 10 150 4
M3 x0.35x150 1C10 1C 10 10 150 3 M3 x0.35x100 B7 B 7 10 100 4 M3 x0.5 x150 1C6 1C 6 10 150 4
M3 x0.35x150 B2 B 2 10 150 3 M3 Xx0.35%X100 P5 P 5 10 100 4 M3 x0.5 x150 1C7 1C 7 10 150 4
M3 x0.35x150 B3 B 3 10 150 3 M3 x0.35x100 P6 P 6 10 100 4 M3 x0.5 x150 1C8 1C 8 10 150 4
M3 x0.35x150 B4 B 4 10 150 3 M3 x0.35x100 P7 P 7 10 100 4 M3 x0.5 x150 1C9 1C 9 10 150 4
M3 x0.35%x150 B5 B 5 10 150 3 M3 Xx0.5 x150 1C5 1C 5 10 150 4 M3 x0.5 x150 B4 B 4 10 150 4
M3 x0.35x150 B6 B 6 10 150 3 M3 x0.5 x150 1C6 1C 6 10 150 4 M3 x0.5 x150 B5 B 5 10 150 4
M3 x0.35x150 B7 B 7 10 150 3 M3 Xx0.5 x150 1C7 1C 7 10 150 4 M3 x0.5 x150 B6 B 6 10 150 4
M3 x0.35x150 B8 B 8 10 150 3 M3 Xx0.5 x150 BS5 B 5 10 150 4 M3 x0.5 x150 B7 B 7 10 150 4
M3 x0.35x150 BS B 9 10 150 3 M3 x0.5 x150 B6 B 6 10 150 4 M3 x0.5 x150 B8 B 8 10 150 4
M3 x0.35x150 B10 B 10 10 150 3 M3 Xx0.5 x150 B7 B 7 10 150 4 M3 x0.5 x150 BS B 9 10 150 4
M3 Xx0.35x150 3C2 3C 2 10 150 3 M3 Xx0.5 x150 PS5 P 5 10 150 4 M3 x0.5 x150 3C4 3C 4 10 150 4
M3 x0.35x150 3C3 3C 3 10 150 3 M3 Xx0.5 x150 P6 P 6 10 150 4 M3 x0.5 x150 3C5 3C 5 10 150 4
M3 x0.35x150 3C4 3C 4 10 150 3 M3 Xx0.5 x150 P7 P 7 10 150 4 M3 x0.5 x150 3C6 3C 6 10 150 4
M3 Xx0.35x150 3C5 3C 5 10 150 3 M3 Xx0.35x150 1C5 1C 5 10 150 4 M3 x0.5 x150 3C7 3C 7 10 150 4
M3 x0.35x150 3C6 3C 6 10 150 3 M3 x0.35x150 1C6 1C 6 10 150 4 M3 x0.5 x150 3C8 3C 8 10 150 4
M3 x0.35x150 3C7 3C 7 10 150 3 M3 x0.35x150 1C7 1C 7 10 150 4 M3 x0.5 x150 3C9 3C 9 10 150 4
M3 Xx0.35x150 3C8 3C 8 10 150 3 M3 Xx0.35x150 BS5 B 5 10 150 4 M3 x0.5 x150 P4 P 4 10 150 4
M3 x0.35x150 3C9 3C 9 10 150 3 M3 Xx0.35x150 B6 B 6 10 150 4 M3 x0.5 x150 PS5 P 5 10 150 4
M3 x0.35x150 3C10 3C 10 10 150 3 M3 x0.35x150 B7 B 7 10 150 4 M3 x0.5 x150 P6 P 6 10 150 4
M3 Xx0.35x150 P2 P 2 10 150 3 M3 Xx0.35x150 PS5 P 5 10 150 4 M3 x0.5 x150 P7 P 7 10 150 4
M3 x0.35x150 P3 P 3 10 150 3 M3 Xx0.35x150 P6 P 6 10 150 4 M3 x0.5 x150 P8 P 8 10 150 4
M3 x0.35x150 P4 P 4 10 150 3 M3 Xx0.35x150 P7 B 7 10 150 4 M3 Xx0.5 x150 PS P 9 10 150 4
M3 Xx0.35x150 PS5 P 5 10 150 3 M3 x0.35x150 1C4 1C 4 10 150 4
M3 Xx0.35x150 P6 P 6 10 150 3 M3 x0.35x150 1C5 1C 5 10 150 4
M3 x0.35x150 P7 P 7 10 150 3 M3 Xx0.35x150 1C6 1C 6 10 150 4
M3 Xx0.35x150 P8 P 8 10 150 3 M3 x0.35x150 1C7 1C 7 10 150 4
M3 x0.35x150 P9 P 9 10 150 3 M3 x0.35%x150 1C8 1C 8 10 150 4
M3 Xx0.35x150 P10 P 10 10 150 3 M3 x0.35x150 1C9 1C 9 10 150 4






